IE udterr weret

\l National Testing Agency

Test Date : 23 Feb 2023 Test Slot : siot 1

Subject : 11-Defence and Strategic Studies

Sl. No.1
QBID:111001

Globalization is opined as :

. Macro-systemic change

. Influences global market space

. Imports political ideology and socio-cultural fabric
. All of the above
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Which of the following is not a non-state Actor ?

. Armed separatists

. Ministry of culture, GOI
. Revolutionaries

. Insurgents
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The Second Defence Plan in India was from :

. 1947-1957
. 1957-1967
. 1969-1974
. 1947-1952
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Who said, "War therefore is an act of violence intended to compel our opponent to fulfil our will."

. Napoleon Bonaparte
. Belisarius

Admird Robeck

. C. V. Clausewitz
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Steps involved in developing a counter-intelligence plans are :

. Identify sensitive information that needs protection
. Identify threat agent

. Explore vulnerabilities

. All of the above
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As per Kautilya, the duty of a 'Parivrajaka’ was :

1. Complete control over his senses
2. Indulge in gambling
3. Stay at one place
4. Impure life
1)1
2) 2
3) 3
(4) 4

PIced & TR U URGTSID B Pl T UT?

. (O rgATSHT oR guf fHaEm
3 @l

TP RJF TR IEA]

. Y oila

(1) 1

(2) 2

(3) 3

(4) 4

L

1[Option ID=17021]
2[Option ID=17022]
3[Option ID=17023]
4[Option ID=17024]

SI. No.7
QBID:111007

Maharana Pratap was king of :

. Mewar

. Jaisalmer
. Bhopal

. Nagpur
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As per Kautilya, which one of following is not a leadership quality?

1. Indisciplined and poor personality
2. Desire to learn, listening and understanding
3. Eloquent, bold and endowed
4. Native of the state and controllable
1) 1
(2) 2
3) 3
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Principle of the UN founding charter was :

1. Safe guard peace and security
2. Reaffirm faith in fundamental human rights
3. Promote social purposes
4. All of the above
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Iranian Revolution of 1979 brought to power :

. Ayatolleh R. Khomeini
. Nouri Al Maliki

. Mogtada Ali Sadr

. Haider Ali Abadi
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Dependency Theory includes :

. Economic under development
. Long history of colonialism

. Capitalist expansionism

All of the above
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The formula to measure military power :
P=[C+E+M]x(8+W)
was given by :

1. Ray Cline
2. 1. Gertler
3. C. J. Fuller
4. M. Ignateiff
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INS Chakra (Charlie 1 Class) was originally built by :

. Russia
USA
Australia
. Norway
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The Rio conference was also known as :

. Space Summit

. Earth Summit

. Energy Summit
. Water Summit
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Cyber warfare involves :

. Espionage

. Sabotage

. Disinformation
. All of the above
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NATO launched the post-cold war enlargement (first round) in 1997 at :

1. Madrid Summit
2. Rio-de-Tanerio Summit
3. Vancouver Summit
4. Brazil Summit
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Water is often described as :

. Blue Gold

. Green Gold

. White Gold

. Colouless Gold
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UN conference on Human Environment in 1972 was held at :

. Stockholm, Sweden

. Geneva, Switzerland

. Washington, USA

. Moscow, (erstwhile) USSR
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The book 'Extreme Cultural Relativism' was written by -

. Robert Lowie
. Kautilya

. Machiavelli

. Rousseau
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Who made this famous statement : "War made the state and the state made war"?

1. Charles Tilly
2. Cynthia Weber
3. Alexander Wendt
4. Stephen Walt
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JTames Mattis was Defence Secretary of

. Australia
.USA

. New Zealand
. Canada
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LTIPP, in Indian Defence strategy, refers to :

. Long-Term International Perspective Plan
. Long-Term Indian Perzpective Plan

. Long-Term Internal Perspective Plan

. Long-Term Integrated Perspective Plan
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The IBSAMAR Maritime Exercises included :

. India-Brazil-South Africa

. Italy-Brazil-South America

. Indonesia-Brazil-South Africa
. Iceland-Brazil-South Africa
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Comprehensive Basin Management refers to :

. Water Resources Management

. Weapons Resources Management

. Material Management

Warehouse Resources Management
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Term "Fundamentalism" was first used in American Protestianism in the :

;1§ Century
.19t Century
. 215 Century
.20t Century
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Rajamandala theory in Arthashastra, refers to :

1. Elements of Individuales
2. Circle of States
3. Commercial Partners
4, Power of religion
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Containment Policy was advocated by :

. Geroge Kennan

. Jeen Bodin

. Thomas Hill Green
. Harold J. Laski
1)1
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Non-Refoulement is applicable to :

. Prisoners of War (POW)
. Refugees

. Traitors

. Spies
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Who said, "Water is friendly element for those who are familier with it and know how best to treat it".

1. Hulmut, R. Kruz
2. David, R. Stone
3. K Warikov
4. Johann Goethe
1) 1
(2) 2
3) 3
(4) 4
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Vulnerability in disaster refer to :

. Death and destruction for natural or man made disasters
. Resistance from spiritualism

. Psychology of religion

. Forecasting of fisheries
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Different levels of war are :

1. Strategic
2. Operational
3. Tactical
4. All of the above
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(4) 4
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Chernobyl aceident occurred in the year :

1. 1980
2. 1982
3. 1984
4. 1986
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The Law of Armed conflict provisions for :

. Just cause

. Proportionality

. Lost resort

. All of the above
1) 1
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Economic liberalism has led to emergence of :

. Off-shore financial centres
. On-shore defence centres

. Economic sanctions

. Economic glocalization
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Protectionism was advocated by :

. Alexandar Hamilton
. Jean-Baphiste

. Martic Dempsey

. John Dower
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MFN 1n Defence Economics refers to :

1. Most Favoured Nation
2. Most Favourite Nation
3. Most Friendly Nation
4. Most Frequent Nation
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MTCR refers to :

. Missile Technology Control Regime

. Missile Technology Control Room

. Missile Technology Creation Room

. Missile Technology Creation Regime
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ICOCOS refers to :

. Indian Code of Conduct for Quter Space

. International Code of Conduct for Quter Space

. International Charter of Conduct for Quter Space

. International Commission of Conduet for Outer Space

b =

L]

1 1
(2) 2
(3) 3
(4) 4




37g 1. 3014130109 Fafafed o 4 feus! gafifd s g?

1. SIST PIS B Faae BIR 3 WY
@ﬁ?ﬂﬁmwwﬁwwﬁildd@ﬂ

3. SEXATAE F1ER AP Frade BR AP W

4. SCYFA BHIYH SHP Brade BR ARG WY

(11

(2) 2

3) 3

(4) 4

1[Option ID=17149]
2[Option ID=17150]
3[Option ID=17151]
4[Option ID=17152]

Sl. No.39
QBID:111039
ICT refers to :
1. Information - Communication - Technology
2. Innovation - Communication - Technology
3. Invention - Communication - Technology
4. Information - Commerce - Technology
1) 1
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(3) 3
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Future conventional warfare scenario include :

1. Long-range precision strike
2. Electronic-information warfare
3. Space warfare
4, All of the above
(1) 1
(2) 2
(3) 3
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The South Asian Free Trade Area (SAFTA) members are :
A, Afghanistan

B. India

C. Thailand

D. Pakistan

E. Nepal

Choose the most appropriate answer from the options given below :

. A B.Cand D Only
.A B.CandE Only
. A B.DandE Only
.B.C,Dand E Only
1 1
(2) 2
(3) 3
(4) 4
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Find out the right statement with regard to the establishment of Quter Space Treaty (OST).

A. Testing of Inter-Continental Ballistic Missile

B. Rapid Development of Space Activities

C. Promotion of peaceful use of outer space

D. Proper monitoring of International Peace Treaties
E. Monitoring of disarmament initiatives

Choose the most appropriate answer from the options given below :

. A Band C Only

.A B, Cand D Only

. A B.DandE Only

. A B.C.Dand E Only
1 1

) 2

3) 3

(4) 4

B




aTgl Siaief Y (311.03.21) 3 =Y & aR H Tg! HYA & UgdH Diog|

A. {R-HeTardra maus aurd
B. g faordig siafe mifdfafeai
C. STl 3fafver 3 ifaqol ST &1 Sgral &1
D. 3 Trifa Hiel ot FRE
E. O B FRRE
i fu e fasedl O 99 IUgad 9Tk D1 99 Bifed:

1. BAT A, BIARC
2. PAdA A, B,C 3R D
3. Hdd A, B,D 3R E
4. HAAA,B,C,DIRE
(1) 1
) 2
3) 3
(4) 4

1[Option ID=17165]
2[Option ID=17166]
3[Option ID=17167]
4[Option ID=17168]

Sl. No.43
QBID:111043

Identify the countries which are not the founding member of SAARC.

A India

B. Afghanistan
C. Pakistan

D. Myanmar
E. Nepal

Choose the correct answer from the options given below :

. Aand B Only
. B and C Only
. B and D Only
. B and E Only
1)1
(2) 2
(3) 3
(4) 4

3 33 1 UgaH SIS, o I (TU.UUIRAT) & IR G5 6l 8

A YR

B. B
C. gifiesaH

D. TIOR

E. 9Ur1d

A1 fu U fasedl & § TEl ST &1 99 BIfoiw:

1. Had AR B
2. %aAB AR C
3.%dd B AR D
4. HddB IR E

1) 1

) 2

3) 3

(4) 4

b =

RS

1[Option ID=17169]
2[Option ID=17170]
3[Option ID=17171]
4[Option ID=17172]

Sl. No.44
QBID:111044




The Structural Arrangement Programme aims to ;

A. Devaluating exchange rate

B. Reducing government spending

C. Reducing tariffs on goods

D. Privatizing government owned industries
E. Reducing subsidies to domestic industries

Choose the correct answer from the options given below :

. A_Band C Only
.A_B.C.Dand E Only
. A B,Cand D Ouly
.B.C.Dand E Only
1)1

(2) 2

3) 3

(4) 4

TRETHD AT BHH & 353 87

B

A. T8 &R o1 Sfaeg B

B. R &0 | HHI T

C. IEI3H IR Uen| H Pl Bl

D. DR & W dled IR BT S BR0] Sl
E. IRY 3G IR Afeust &H ST

19 fau ¢ fasbedt & U Hel 9Tk &1 9g- Sifoig:

1.%ad A, B3R C
2. BAAA,B,C,DIRE
3. PIAA, B, C IR D
4.%dd B, C,D 3RE
1) 1
) 2
@) 3
(4) 4

1[Option ID=17173]
2[Option ID=17174]
3[Option ID=17175]
4[Option ID=17176]

Sl. No.45
QBID:111045

Identify the correct statements with respect to Russia-Ukraine crisis :

A India has supported Russia's action in Ukraine.

B. India has advised resolution of the crisis through dialogue & diplomacy

C. India has supported Western sanctions against Russia
D. All dialogues with Russia have been suspended
E. India has resisted Western pressure against Russia

Choose the most appropriate answer from the options given below :

. A_BandE Only

. B and E Only

.A B.DandE Only
.A B.CandE Only
1) 1

(2) 2

(3) 3

4) 4

b =

[N ]




-1 Hbe & Yoo H gl HUHl DI UgdH Bifory|

A, YRT A gepA § =4l SRargdl &1 952 [bar g

B. HRd = ardl 3R o4 (FSwiad) & d1eq I 59 dhe & YA @ 9aTe &l gl
C. YRd 7 =9 $ G ufid ufaes o gl e

D. =9 & 1y 9} arafi wffd s 71 B

E. YRd 3 =9 & 9% 9id gamal &1 wieriy e g

-4 fau e fawedl 7 9 969 Sugad SR &1 98- B

1. $dd A, B, E
2. $4ad B, E
3. %04 A, B, D, E
4. PAAA.B,C,E
1 1
() 2
3) 3
(4) 4

1[Option ID=17177]
2[Option ID=17178]
3[Option ID=17179]
4[Option ID=17180]

Sl. No.46
QBID:111046

Identify the countries which participated 1z 'Malabar 2021" Naval exercise :

A India

B. Austria
C. Japan
D.US

E. Australia

Choose the most appropriate answer from the options given below :

. A B.C.DandE Only
.A B, Cand D Only
.A C.DandE Only
.A B . DandE Only
(1) 1

(2) 2

3) 3

(4) 4

TATER 2021' 0HS R § YT o4 ard <20 &1 9gdH difo|

A, SRear
B. SO

C. SRS
D. 3Referan

- feu e foe el & 8 999 IUgad SR P1 99 ST

1. $Gd A, B, C,D ARE
2. %ad A, B, C 3R D
3. PIAA, C,DIRE
4. $AAA. B, DIARE

1) 1

2 2

(3) 3

(4) 4

b =

e

1[Option ID=17181]
2[Option ID=17182]
3[Option ID=17183]
4[Option ID=17184]

Sl. No.47
QBID:111047




Which among the following are related to Isracl-Arab conflicts?

A Balfour Declaration (1917)
B. Oslo Accord

C. Camp David

D. Warsaw Pact

E. Moscow Treaty (2002)

Choose the correct answer from the options given below :

. A B,CandD Ouly
.A_B.C.Dand E Only
. A Band C Only

. Band C Only

(1) 1

(2) 2

3) 3

4) 4

frafafEad § 9 $H soRmg-3Re 998! § Sdfid g2

A. STPR HIN0T (1917)
B. 3{Tl GHSAAT

c. & efas

D. 91 Uae

E. HI&h1 TlY (2002)

19 fau ¢ fasbedt & U Hel 9Tk &1 9g- Sifoig:

1.$dd A, B, C 3R D
2. BAAA,B,C,DIRE
3. %A A, BIARC
4. %ddB AR C

1

2) 2

(3) 3

(4) 4

B

1[Option ID=17185]
2[Option ID=17186]
3[Option ID=17187]
4[Option ID=17188]

Sl. No.48
QBID:111048

Disarmament is important because :

A. Armed confliets are on the rise

B. Defence expenditure 15 increasing

C. Increasing arms race

D. Production of lethal weapons is increasing
E. Nuclear arms race is getting momentum

Choose the most appropriate answer from the options given below :

.A B .C DandE Only
.A B, CandD Only

. A BandD Only

.A C.DandE Only
(1) 1

2) 2

3) 3

(4) 4

B




R0 eyl 8, Fif:

A, TR S99 H 98 81361 B

B. Yl o0 ¥ 1 8 <8 3|

C. TS 9g el ¢

D. 9Iq% Sf¥aRI & Saied H 3f& 8Iel B
E. TRAT] SARI #1818 id 9@ s @l g

- fqu e fam el 7 9 9ol SUgad SR o1 90 DI

1. $Gd A, B, C,D 3ARE
2. BFAA, B, C IRD
3. PdAA, B3IRD
4. $AdA,C,DIARE
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=17189]
2[Option ID=17190]
3[Option ID=17191]
4[Option ID=17192]

Sl. No.49
QBID:111049

Which among the following countries c¢laim rights over Paracel Islands?

A. China

B. Vietnam
C. India

D. Myanmar
E. Sri Lanka

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand D Only
3. Aand E Only
4, Aand C Only

(1) 1

(2) 2

3) 3

(4) 4

frafafad § 4 $H-8 32 IR glUl R DR 1 2a $3d 82

A dE
B. faga=m
C. HRd

D. IR
E. gida@r

1 fau ¢ fasbedt # U Hel 9Tk &1 9g- Sifoig:

1. Had A AR B
2. BT A 3RD
3.Pdd A ARE
4. FaAAMRC

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=17193]
2[Option ID=17194]
3[Option ID=17195]
4[Option ID=17196]

Sl. No.50
QBID:111050




Which among the following are founding members of NATO?

A Norway
B. Poland
C. Italy

D. Hungary
E. Portugal

Choose the most appropriate answer from the options given below :

. A_Band C Only

. C.D and E Only
.B.C.DandE Ouly
. A CandE Only
1)1

(2) 2

3) 3

(4) 4

frafafed 3 9 SH-8 71 & IRITs 9ad 82

A Td
B. Ulds

C. sedl
D. g
E. Qad
- AU e faedl 7 9 9ol Sugad STk o1 99 DI

1.%ad A, B3R C
2.%aAC, D ARE
3.%dAB.C,D IR E
4. Pdd A, C ARE

1) 1

) 2

@) 3

(4) 4

B

1[Option ID=17197]
2[Option ID=17198]
3[Option ID=17199]
4[Option ID=17200]

Sl. No.51
QBID:111051

Which among the following is related to China-Pakistan Economic Corridor?

A Lahore

B. Gwadar Port
C. Hambantota
D. Koshgar

E. Karachi

Choose the most appropriate answer from the options given below :

.A.B,C.Dand E Only
. A.B.Cand D Only
.A B.DandE Only
.B.C,Dand E Only
1) 1

) 2

(3) 3

4) 4

b =

e L




frafeed o o3 SH-urfew e TR @RsR) ¥ F&fid &

A TR

B. 116 §&7I8
C. SreleT

D. BIEMR

E. SR

i< fou U fasedl & U 99 Sugdd IR &1 99 DIfeig:

1. $ad A, B, C 3IRE
2. BAAA, B, C IRD
3. %A A, B,D IRE
4. %adB,C. D 3IRE

1 1

) 2

(3) 3

4) 4

1[Option ID=17201]
2[Option ID=17202]
3[Option ID=17203]
4[Option ID=17204]

Sl. No.52
QBID:111052

Identify the basic principles of "Laws of Armed Conflicts"

A Principle of distinction

B. Principle of Proportionality

C. Minimization of power display
D. Commercial Caution

E. Military Necessity

Choose the most appropriate answer from the options given below :

.A.B,C.Dand E Only
. A BandE Only

. A B.CandE Only
.B.C.Dand E Only
1) 1

(2) 2

3) 3

(4) 4

I TS & ST & Jd RSidl 3t ug=F Fifau)
A fatles fyeia (idiua sifp f5feewm)

B. GOUIideHdl &1 R,

C. X1 Ya=H & gAaq Sl
D. HasR Hadbdl

E. 99 Sazgad

ba =

e L

- fau T fo el # § 999 IUgdd SR P1 99 S

1. $Gd A, B,C,D ARE
2. HaAA, B ARE
3. P A, B, C IHRE
4. %adB,C. D 3RE
1) 1
) 2
3) 3
4) 4
1[Option ID=17205]
2[Option ID=17206]

3[Option ID=17207]
4[Option ID=17208]

Sl. No.53
QBID:111053




Which of the following are military alliances?

A NATO
B.SCO

C. SAARC
D. US-Japan
E. US-China

Choose the most appropriate answer from the options given below :

.B.C.D and E Only
A B, Cand D Only
A, Cand D Only
.Aand D Oaly

1) 1

(2) 2

3) 3

(4) 4

fFrafafaa ¥ 9 BH-3 3 Tede 8

A Arel
B. U813l
C. g

B

- feu e fae el & ¥ 999 IUgd SR PT 99 S

1.%adB.C.D,E
2. $adA.B,C.D
3.WAA A, C,D
4. HAAAARD

(11

) 2

3) 3

(4) 4

1[Option ID=17209]

2[Option ID=17210]

3[Option ID=17211]
4[Option ID=17212]

Sl. No.54
QBID:111054

Identify the wrong statement about Taliban.

A, Taliban was supported by Pakistan

B. UAE, Saudi Arabia and Pakistan gave recognition under international law to first Taliban regime (1996-2001)
C. Taliban is a liberal organisation

D. Mullah Omar is the Supreme Leader of Taliban-II regime

E. Saudi Arabia recognized Taliban-II (2021 onwards) government

Choose the most appropriate answer from the options given below :

A, B and C Only
.B. C and D Only
.C.D and E Only
A, CandD Only
1) 1
(2) 2
(3) 3
(4) 4

[

RS




A & aR § 7Tad =H| &1 ggdE Hifei]

A. Ui A aifera &1 gad= foar 1|

B.gU%., U3hal 3R 3R UIhwi = SiaRiPy @ & iaRiel Uil difeiaT $RPR (1996 - 2001) HIGdT af 411
C. T SR AIfaH-11 TRPR & Hate a1 ¥

D. GFHal 3R A AIgH-11 (2021 & §1&) IRBR o] J=dl 41 4|

- fau T fa el 7 9 9ad Iugad STk o1 90 ST

1. $ad A, BIARC
2. HadAB, C 3R D
3. PdAC. D IRE
4. FadA, C ARD

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=17213]
2[Option ID=17214]

3[Option ID=17215]
4[Option ID=17216]

Sl. No.55
QBID:111055

Who among the following are not associated with "Realpolitik" school of thought in international politics?

A, Carl Van Clausewitz
B. Woodooro Wilson
C. Geroge F Kennan
D. Hewog Kissinger

E. Mahatma Gandhi
Choose the most appropriate answer from the options given below :

Aand B Only
.B and C Only
.Cand D Only
.B and E Only
(1) 1
2) 2
3) 3
(4) 4

Fafiiad o 4 o iRy Tsogaw & Roauifafes fdar-gmem 3 de&fed 12 8

A. TTd diF galaacd
B. s fawH

C. 9ol U, &

D. 813! fpfioR

E. 3139 g99d

=14 fau U fasedi § 9 Ta! 3TR &1 90 PHifors:

1. $ad A AR B
2. HadB AR C
3.%ad C AR D
4. HadAB ARE

1 1

) 2

3) 3

4) 4

ol o et

1[Option ID=17217]
2[Option ID=17218]
3[Option ID=17219]
4[Option ID=17220]

Sl. No.56
QBID:111056




According to World Food Summit (1996), which are the dimensions of food security :

A. Provision of five meals a day
B. Food availability

C. Food access

D. Utilization of Food

E. Food supply stability

Choose the correct answer from the options given below :

(4) 4

fersy ey FRRER WHIEH (1996) B HTIR Wl TR&T & BH-T AT &2

A. YA Ui HisH &1 Urae=

B. W] a3l T FUereusd

C. T a3l d% Ugd

D. TTE aX 37l 1 I9anT

E. G a5 3 &l Sudedr 5 ®ifdd

1 fau ¢ fased! & U Hel 9k ol 9g- Sifory:

1.®add A, B, C,D
2. FAAA. B, C
3. %4dB.C.D.E
4. ®dd A, B,C,D.E
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17221]
2[Option ID=17222]
3[Option ID=17223]
4[Option ID=17224]

Sl. No.57
QBID:111057

Identify the correct statements with regard to SAARC

A SAARC headquarters is in Kathmandu

B. SAARC came into being in 1985

C. SAARC is a military organisation

D. 12th SAARC summit was held at Islamabad
E. Last SAARC sumumit was held in 2018

Choose the correct answer from the options given below :

A, B and D Only
.A.B.Cand D Only
.A.B.Dand E Only
.A.D and E Only
(1) 1

(2) 2

3) 3

(4) 4

ol S et




g% (TI.0.UR ) & 969 § 981 U &) UggH Sifau|

A. T &1 T BI6HG H 5

B. T 1085 H i T oI 1|

C. % U I A8 5

D. Hih BT 12a1 [ARER GHiaH SwErare J SRiferd goi ol
E. Tep &7 i IReR FHia 2018 T Siford fesam i o

A= fou U fasedl & U gl SR &1 99 Bifoiw:

1. Had A, B 3ARD
2. BAAA, B, C IRD
3. %A A, B,D IRE
4. $AdA, D 3IRE
1 1

) 2

(3) 3

4) 4

1[Option ID=17225]
2[Option ID=17226]
3[Option ID=17227]
4[Option ID=17228]

Sl. No.58
QBID:111058

Sun Tzu classifies intelligence collection agents as :

A Local mhabitants
B. Officials in enemy camp who can betray their government

C. Enemy spies who could be "turned’
D. Expendable agents who can be sacrificed to feed false information to the enemy
E. Spies who can be relied on to penetrate the enemy, survive and report accurately

Choose the most appropriate answer from the options given below :

.C.D. E Only
.A.B. C Only
.B.C.D. E Ouly
.A.B.C.D.E
1) 1

(2) 2

3) 3

(4) 4

A 9 - Giha1 Y91 Ushd B dId Uoiel &l f6d U § qifferd fan um

A R fard

B. 7 IR F 3 SifeRY, o 3o+l SRR & 91y fGyraerd R 9od g

C. < 9. 5% BIsT o 9l g |

D. d U= (LIS ad) Uoie, o7 X &1 ITad Y1 o & QU pai foar o 9ebdi g

E. d SN, foF IR 97 @8 § gU3 &3, Siifad Yg- SR aia RUld & & g wRis fasa1 o 9 g

12 o fasedl & 9 e SR &1 9 B

1.$dd C.D.E
2. BAA A, B. C
3. %ddB.C.D.E
4.A.B.C.D.E

(1 1

) 2

3) 3

(4) 4

b2 =

o

1[Option ID=17229]
2[Option ID=17230]
3[Option ID=17231]
4[Option ID=17232]

Sl. No.59
QBID:111059




Which among the following are sources of World Health Organisation funding ?

A WTO

B. Member states

C. Private Sector

D. Philanthrophic Foundations

E. Intergovernmental organisation

Choose the most appropriate answer from the options given below :

A.B.C.,DandE Only
A B, Cand D Only
.B.C.D and E Only
A, B, Dand E Only
1) 1

(2) 2

3) 3

4) 4

fFroffed ¥ 9 -3 Seg,ud 3. 31 Big (e 9 82

A. Seeg 1.3,

B. 9G¥ - T8

c. it &3

D. AP OHR] BEegd
E. 3t IRBR] HTeA

ol S

- feu e fae el & ¥ 999 IUgd SR PT 99 S

1.%dd A, B,C,D.E
2. HIAA, B, C IRD
3. %9 B.C,D IR E
4. P90 A, B, D ARE

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17233]
2[Option ID=17234]

3[Option ID=17235]
4[Option ID=17236]

Sl. No.60
QBID:111060

Which among the following are major objectives of Act East Policy?

A To promote economic growth and co-operation

B. Develop strategic relationship with countries in Asia-Pacific region
C. Engagement of countries at bilateral multilateral and regional level
D. Focus on the development of North Eastern states

E. Focus on culture, commerce and connectivity

Choose the correct answer from the options given below :

. A, B, Cand D Only

. A B.C.D and E Only
.B.C.Dand E Only

. C.D and E Only

(1) 1

(2) 2

3) 3

(4) 4

R N




frafefed & 4 S1-8 ude 5% el & ger sew e

A e "afs 3R HeunT &1 ggrar a1

B. TRMI-Y9Id &7 # <211 & 91y I0HIfa® e [a@m R o1

c. fguefi, sguelia sk &g WR W S & WY GaSdl HH S
D. ITR-Yd1 541 & (T8 W &M Bl Bl

E. Ui, aifired oiR @faefad! iR o &fsd &1

A= fou U fasedl & U gl SR &1 99 Bifoiw:

1. Had A, B, C 3R D
2. BGAA,B,C,DARE
3. %dAB.C.D R E
4.%ad C,D ARE

1 1

) 2

(3) 3

4) 4

1[Option ID=17237]
2[Option ID=17238]
3[Option ID=17239]
4[Option ID=17240]

Sl. No.61
QBID:111061

Which among the following Articles of UN Charter deals with Trusteeship?

A Article 76
B. Article 86
C. Article 91
D. Article 90
E. Article 97

Choose the correct answer from the options given below :

A, B and D Only
VA, B, Cand D Only
.C.D and E Only
A, C,Dand E Only
1 1

(2) 2

3) 3

(4) 4

e Iy A1eY & Fufifad I 3 $H-8 sgwe ce iy 3 gefia 8
A. 39576

ba =

e L

1 fau ¢ fased! & § Hel 9Tk ol 9g- Sifory:

1. HTAA. B ARD
2. %ad A, B, C 3R D
3.%adC, D 3IRE
4. PAAA.C,DIARE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17241]
2[Option ID=17242]

3[Option ID=17243]
4[Option ID=17244]

Sl. No.62
QBID:111062




Which of the following were nuclear states when NPT was premulgated?

A UK

B.US

C. France

D. North Korea
E. India

Choose the most appropriate answer from the options given below :

A, B Only

LA, B, C Only
VA, B, C.D Only
A, B, C,E Only
1) 1

(2) 2

3) 3

4) 4

O TS 1 GNon &1 7T off, GF S -4 IRE] 19 42

AGD.

B. AHR@T

C. Wi

D. 3R I

E. HRd

i S

- feu e fae el & ¥ 999 IUgd SR P1 99 S

1[Option ID=17245]
2[Option ID=17246]
3[Option ID=17247]
4[Option ID=17248]

Sl. No.63
QBID:111063

The convention on prohibition of chemical weapons provisions for :

A Prohibition of chemical weapons production
B. No use of chemical weapons

C. No stockpiling of chemical weapons

D. Use in agriculture

E. No transfer of chemical weapons

Choose the most appropriate answer from the options given below :

A, B, C Only
.B.C,D, E Only
A, B, C,EOnly
.A,B,C,D,E Only
1) 1

@ 2

3) 3

4 4

ol o et




A AR & Y W ofY 90y (@99m) § 67 & iy e a1 1S 82
A. TS gRART & IdTed &1 [y
B. IAH® ORI &1 ®lg TN gl
C. Wﬁﬁﬁﬂﬂﬁlﬁfﬂéwﬁ

- fqu e fam el 7 9 9ol SUgad SR o1 90 DI

1.$dd A, B, C
2. $ddB,C.D.E
3. PAAA.B.C.E
4. ®dd A, B,C,D,E
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17249]
2[Option ID=17250]

3[Option ID=17251]
4[Option ID=17252]

Sl. No.64
QBID:111064

Amendment to UN Charter comes into force when :

A. Adopted by vote of 2/3 members of General Assembly
B. Approved by Secretary General

C. Ratified by 2/3 members of UN General Assembly

D. Ratified by all permanent members of Security Council
E. Verified by International Court of Justice (ICT)

Choose the correct answer from the options given below :

1. A, Cand D Only
2. A Band C Only
A, B.Cand D Only
A, C,Dand E Only

e

1) 1
(2) 2
(3) 3
(4) 4

Ty P AR B WY 79 IR ST 8, 9E-

A TENYT & SI-fdeTs Sewl & Tdl gRI SR & ol il g |
B. HgMI9a gR1 SifieR o fmr o |
C. UgE Y & 51-[AeTs ga=l gR1 g o & S 5
D. JRef uRee & el e gr1 Sfgfy & & ot 2
E. SRISTY =AR-Ter GRT FId- R 3] Sl 8 |

1 fau ¢ fasbedt # U Hel 9Tk &1 9g- Sifoig:

1. Had A, C AR D
2. BaAA, BARC
3. PIAA, B, C IR D
4. $Ad A, B,DIRE

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17253]
2[Option ID=17254]
3[Option ID=17255]
4[Option ID=17256]

Sl. No.65
QBID:111065




Identify the armed groups involved in Afghanistan conflict

A Ijtihad
B. Jamayat
C. Hamas
D. Junbish
E. Taliban

Choose the correct answer from the options given below :

.A B, CandE Only
.A B . Dand E Only
. B.D and E Only

. C.Dand E Only
(1) 1

(2) 2

3) 3

(4) 4

P o o S 92 9961 &1 UgHH Sl |
A. TRTETE

B. SHEd
C. gAY

D. SfTag
E. dlferar

S

19 fau ¢ fasbedt & U Hel 9Tk &1 9g- Sifoig:

1. Had A, B, C 3IRE
2. BIA A, B,D IARE
3. PdAB, D IRE
4.%ad C,D ARE

1) 1

) 2

(3) 3

(4) 4

1[Option ID=17257]

2[Option ID=17258]

3[Option ID=17259]
4[Option ID=17260]

Sl. No.66
QBID:111066

Match List I with List II

LIST I (Wi s
S}_sgn;apun LIST II (Country of Origin)

A |Tericho I {ICBM) | I [United States
B. EJ{UI Launche_d Ko II.  [srael

esponse Weapons
C _;l_:flsh Missile . lchina

yatem

Dongfeng Ballistic . .

D. Mssile IV, [India

Choose the correct answer from the options given below :

. AL, B-I, C-IV, D-III
. AL, B-IIL, C-III, D-IV

. A-IV, B-IIL, C-1, D-II

. A-ILM B-IV, C-II, D-I
1 1

(2) 2

3) 3

(a) 4

P




el 13 91 Il 11 DT [0 Bifeie
T 1 ERAR () UUEt| T 10 Se-an

& EIEGARI] L s e
EIEECIEEET

B. [Midafear o I BoREd
GERI)

STERTE] W& Uured]| [ [
SR dale®

IV. URd
&R
=t fu U foeedl § 9§ T6l TR & 99 S
1. A-II. B-1. C-IV, D-III
2. AL B-1IL, C-II, D-IV
3. A-IV, B-III, C-1. D-II
4. A-IIL, B-IV, C-I1, D-1
1) 1
) 2
3) 3
(4) 4
1[Option ID=17261]
2[Option ID=17262]
3[Option ID=17263]
4[Option ID=17264]
Sl. No.67
QBID:111067
Match List I with List IT
LIST IT (Year of
LISTT (Feece) Establishment)
A |CRPF I |19635
B. |BSF I1. 1949
C. |Rapid Action Force I 1969
Central Industrial .
B Security Force Iv: el

Choose the correct answer from the options given below:

1. A-I, B-II, C-IT1, D-IV
2. A1, B-I, C-IV, D-TII
3. A-IV, B-IIL, C-II, D-I
4. A1, B-IV, C-1, D-II

(1) 1
(2) 2
3) 3
(4) 4
Tt 1 S 1Y Il 11 BT A Bifog
T3 1 5T (@5 = 11 RITTT-aY
A [leRYuEG L |1965
B [HiTou® I 1949
C [gdd iazﬁ o4 III. 1969
g HID qRam|
D. IV. 1991
ElS
=4 feu T fasedl O § T8l SR &1 909 Siford:
1. A-, B-II, C-IT1, D-IV
2. A1, B-I, C-IV, D-III
3. A-IV, B-III, C-II, D-I
4. A1, B-IV, C-1, D-II
(1) 1
(2) 2
(3) 3
(a) 4

1[Option ID=17265]




2[Option ID=17266]
3[Option ID=17267]
4[Option ID=17268]

Sl. No.68
QBID:111068

Matech List I with List I

LIST I (Defence Training :
Establishment) EEST IR Eacation)
A Army War College I |Goa
College of Materials
B Management (CMM) Sl
c. National Defence I IMhow
Academy
Naval War College IV.  |[Tabalpur

Choose the correct answer from the options given below:

. A-II, B-IV, C-III, D-I
. A-IV, B-IIL, C-I, D-II
. A-I, B-I, C-III, D-IV
. AL, B-TV, C-II, D-I
(1) 1
(2) 2
(3) 3
(a) 4

el 1 GrY Il 11 DT eI Bifeie

B R

T 1 & TIRIG0T RITTT

11 STt

Bk HIB Helied

AT ) 1L

: bkl
A [ ar Fio L [mar
qui
g

AR (ST d UhsH! RIEH

III.
L& HPIGH)

D. [ aR dicidl IV [SEagR

- fu U fa el & 9 Hel IR &1 987 SIS

. A-II, B-IV, C-III, D-I
. A-IV, B-TII, C-I, D-II
. A-I, B-II, C-ITI, D-IV
. AL, B-IV, C-II, D-1
(1) 1
(2) 2
(3) 3
(a) 4

R

1[Option ID=17269]
2[Option ID=17270]
3[Option ID=17271]
4[Option ID=17272]

Sl. No.69
QBID:111069

Match List I with List II

LIST I (Exercise ;
[Militarv]) LIST II (Countries)
Indian &
A |Garuda Shakti I |United
Kingdom
B. [YudhAbhyas ol
i Oman
O [ndeadhnmss fif  [mcissm
Indonesia
: . |India and
D. [Eastern Bridge Iv. i o e

Choose the correct answer from the options given below:

. AL, B-IV, C-1, D-II
. A-L B-II, C-III, D-IV
. A-IV, B-TII, C-II, D-I
. AL, B-I, C-IV, D-III

b=

S TS




11

() 2
3) 3
4) 4
T 1 GrY Al 11 DT T Sifeie
= 1 ST Tt 11 ST
B. [& ¥ L [HRd 3R 3HHHE
C RaeEw 1L |HRd 3R 3USHIEMA]
. [HRT 3R g I
D. ﬁwﬂm A feid

i fau e fasedl & U Hel TR &1 90 Sifoig:

R R R

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17273]
2[Option ID=17274]

3[Option ID=17275]
4[Option ID=17276]

. A-IIL, B-IV, C-1, D-II
AL BIL COI1, DAV
. A-IV, B-TIL, C-II, D-I
. A-II, B-I, C-IV, D-III

Sl. No.70
QBID:111070

Match List T with List IT

LIST I (Author) LIST II (Book)
A [RobestD. Kapbin I gfiz;}'hem in South China

B. [P.R Franklin

IL

Monsoon: The Indian
Ocean and the Future of
|American Power

C. |Tutileurcz Czeslaw

III.

Modi's World : Expanding
[ndia's Sphere of
[nfluence

D. [Raja Mohan

V.

Sovereignty and the East

China Sea Conflict

Choose the correct answer from the options given below:

R

1)1
(2) 2
(3) 3
(4) 4

. A1, B-I, C-IV, D-III
. A-I, B-II, C-ITI, D-IV
. A-IV, B-TII, C-II, D-I

. A-I B-II, C-III, D-IV




el 13 91 Il 11 DT [0 Bifeie

T 1 AP &1 TS
A RrEd e L %%ngwm
HY: ¢ 5iUsaq
B. [ 3R, thefer IL 37 U8 & W
5 ARG giaT
TG o TS
C. [gacifaes Yol L RfUsars TR 3w
il
) . [eiTse
D. [ I=nHEEd IV. S T 4

i S U fadeal § U Ul 3R @ 94 ®Iuig:

. AL, B, C-IV, D-III
. A-I, B-II, C-III, D-IV
. A-IV, B-TIL, C-II, D-I
. A-I, B-II, C-III, D-IV
1) 1
(2) 2
(3) 3
(4) 4

L b

1[Option ID=17277]
2[Option ID=17278]
3[Option ID=17279]
4[Option ID=17280]

Sl. No.71
QBID:111071

Match List I with List I

LI%‘; zf:i;h:;m LIST I (Sector)
A 8‘;‘;‘;;“’“ Cactuy I [Sichis Glacier
B. 8‘;‘;??0" Meghdaot| &1 IMale in Maldives
c. 8%%{2)‘““ Wiraat I [Kargil Sector
D. 8‘;;‘;; el VY IV, |Srilanka

Choose the correct answer from the options given below:

1. A-L, B-IL, C-III, D-IV
2. A-II, B-1, C-IV, D-III
3. A-IIL B-TV, C-1, D-II
4, A-I, B-II. C-III, D-IV

(1) 1

(2) 2

3) 3

(4) 4




el 19 91y Il 11 D1 T Bifeie

197 f A= T I &
TS dhged
\958) L [

TR HHgd (1984)| 11 [ATecia &1 ar &

TR fa21e (1988) | I [@RIATG Haex

O [n|=] *=

TR {3 (1999) | IV, E@?ﬁ” P

i fSu U fadedl § U U8l IR &1 944 Hiuid:

. A-I, B-IIL, C-III, D-IV
. AL, B-I, C-IV, D-III
. A-IIL, B-IV, C-I1, D-II
. A-I, B-II, C-III, D-IV
1) 1
(2) 2
(3) 3
(4) 4

|

N N

1[Option ID=17281]
2[Option ID=17282]
3[Option ID=17283]
4[Option ID=17284]

Sl. No.72
QBID:111072

Match List I with List I

el Iéi‘;g’:;"“"““‘ LIST II (Countries)
A Durand Line I.  |lran & Irag
Pakistan -
B. [3lst Parallel II. .
C. PMagimot Line III.  |[USA and Canada
D. [49th Parallel fy [emmnpand
[France

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, DIV
2. A-IV, B-III, C-1I, DI
3. A-I, B-I, C-IV, D-III
4. AL, B-IV, C-II, D-I

1) 1

() 2

(3) 3

(@) 4

=11 P Y I 11 BT T Bieg
T 1 S=RIPTd |1 T 11 &=
A |30 3@l L [5¥H 3R 336
B. R1df §9HRR (Refw) | 1L Emmmiai i
C. [iele & I [gUYU 3R B8]
D. |08 THANR (Qa@ | IV. [oHHT 3R B

=i fSu U f[adeal § U Ue! 3R @ 944 DI
1. A-I, B-II, C-IIL, D-IV
2. A-IV, B-III, C-II, D-I
3. A-II, B-I, C-IV, D-III
4. AL, B-IV, C-II, D-I

1) 1

(2) 2

(3) 3

(a) 4

1[Option ID=17285]
2[Option ID=17286]




3[Option ID=17287]
4[Option ID=17288]

Sl. No.73
QBID:111073

Match List I with List IT

LIST I (Strategic

Institutes) LIST II (Location)

Regional Centre for

Strategic Studies L. Phika

Bangladesh Institute
B. |of International and II. |Colombo
Strategic Studies

Center for Strategic

C. |& International IIT.  [Tokvo
Studies (CSIS)
D. INational Institute for IV. |Washington DC

Defence Studies

Choose the correct answer from the options given below:

1. A-III, B-I. C-IV, D-II
2. A-IV, B-III., C-1, D-II
3. A-LL B-II, C-III, C-IV
4, A-II, B-1, C-IV, D-III

(1) 1

(2) 2

3) 3

(4) 4

1 1Y Al 11 BT A Bifey

T 1 ARSI T 11 SRt

y [ ERBR g -

A A : :
ST e A

B. [ZUCHYAA UUS I [t
EEECESEE
e BR Telad

C. [0S 30eHEHG wed| I [eiel
GILSEIFLS)
BEIGH] EI@@EW . ;

D. ot it V. [@ifires St

< fau ¢ fasedl & U Hel 9Tk &1 =5 Bifoig:

1. A-III, B-1, C-IV, D-II
2. A-IV, B-IIL, C-1, D-II
A-IL B-II, C-III, D-TIV
. AL, B-I, C-IV, D-III
1) 1
) 2
(3) 3
(4) 4

o

1[Option ID=17289]
2[Option ID=17290]
3[Option ID=17291]
4[Option ID=17292]

Sl. No.74
QBID:111074




Match List I with List II

LIST I (Indian Weapons /
ims Van) P LIST II (Purpose)
A T-72 I JAir to Ground Attack
B. [SAM II. |Surface to Air Attack
C. |Chinhook III. |Reconnaisance
D. [Chetak IV. |Land battle

Choose the correct answer from the options given below:

1. A-IV, B-1I. C-I, D-III
2. AL B-IIIL, C-IV, D-IT
3. A-IIL B-IL, C-IV, D-III
4. A-ITL, B-I'V. C-II, D-I
1)1
(2) 2
3) 3
(4) 4
el 1% 91 Gl 11 B e Sifeie
"!f’ﬂ' [ HIRAT Eﬁ'ﬂw EFﬁ I m
= SRR
Tr]
A EL72 I
B. [@9 1L [§E 9 §d1 H SMTHAY
C. [RF® 1L [218 (Faam)
D. [dd® IV, [®d g
-t fau e fadedt & § el SR &1 =98 SIfvTe:
1. A-IV, B-1I. C-I, D-III
2. AL B-IIIL, C-IV, D-II
3. A-IL B-I. C-IV, D-III
4. A-IIL, B-IV, C-11, D-1
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=17293]
2[Option ID=17294]
3[Option ID=17295]
4[Option ID=17296]
Sl. No.75
QBID:111075
Match List I with List IT
LIST I(IAF Planes) LIST II (Purpose)
Tejas I DMMulti role
B. Rafale I ;f;l’:‘;lfrise
Deep
C. MIG-21BIS III. [Penetration
strikee
D. [Jaguar V. Ilntercep’ror

Choose the correct answer from the options given below:

. A-I, B-1I, C-III, D-IV
. A-II, B-I, C-IV, D-III
. AL, B-IV, C-I1, D-II
. A-I, B-II, C-III, D-IV
(1) 1
(2) 2
3) 3
(a) 4

e




el 13 91 Il 11 DT [0 Bifeie

I =

T 1 STRETE Tt 11 IR ()
A [d9d I. [HeHd
B. RpTa Ir qﬁ%m&{m@ﬁ ?
C. [EF21 a9 L |3fex 9 gars gaal
D. [M]3R V. [3icrigt

=g fou U APyl § U 98! 3R & 994 DI
1. AL, B-II, C-III, D-IV
2. A-II, B-1, C-IV, D-III
3. A1, B-1V, C-1, D-II
4. A-1, B-IL, C-III, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17297]
2[Option ID=17298]
3[Option ID=17299]
4[Option ID=17300]

Sl. No.76
QBID:111076

Arrange the following events in correct reverse chronological (latest to oldest) order :

A Japan-Russia War

B. Chinese Civil War

C. Cuban Revolution

D. Soviet Invasion of Afghanistan
E. WTC Terror Attack

Choose the correct answer from the options given below :

HEDEBA

1
2

0P

LA, B.
P AL
LA, B,

mgg

LEB.C
.E.B
P B

e
=S

1) 1
(2) 2
(3) 3
(4) 4

Al gem3il 1 Sod PITHHTHR HH H ougiyd Sife|

A VUAFE S
B. 91 BT [6d%

C. FgaT hifd

D. WA UR Fifdad STshHu] (B9
E. S&gcl IR 3fTdep! gHel

9 fau e fased! # U Hel 9Tk &1 =g Sifoig:

i o)

1
2z

o
0P

W
moo
8.
0wo

1) 1
) 2
3) 3
(4) 4
1[Option ID=17301]
2[Option ID=17302]

3[Option ID=17303]
4[Option ID=17304]

Sl. No.77
QBID:111077




Arrange the following countries in ascending order in terms of their military spending in US § as reported by SIPRI in 2021,

A Iran

B. Russia

C. China

D. United States
E. Japan

Choose the correct answer from the options given below :

(4) 4

W(ﬁﬂ&maﬁjW%Wﬁaﬁfﬁ@ﬂ@ﬁaﬁg@ﬁwﬁﬁaﬁm@m@ﬁ@a)%mﬁﬁﬁ IREI e T
Fafyd |

A S

B. &4
c.d
D. 3T
E. 99
i fSu U fadeal § U Ug! 3R & 949 DI
1A B, C
2.A.EB,.CD
3.C,A,D,E.B
4.B,A,C.D.E
(1 1
) 2
(3) 3
(4) 4

1[Option ID=17305]
2[Option ID=17306]
3[Option ID=17307]
4[Option ID=17308]

Sl. No.78
QBID:111078

Arrange the following wars in ascending order :

A. War of Spanish succession
B. Bosnian Conflict

C. Sino-Japanese War

D. Italo-Turkish War

E. Tripolitan War

Choose the correct answer from the options given below :

1. B.A G E.D
2.E.A,

=
)]

D.C.B
.E.C.D,B
.B.C.D.E

)
=
v

(1) 1
(2) 2
(3) 3

(4) 4




Fafafad ggl &1 396 RIS H0 U aaiyd Sifeu|

A WL-TWRIYPR 1 g5
B. SIRATS IS (Huw)
C. IH-SHI g5

D. geTil-gl 4=
E. Bl gg

=i fSu U faded] § U U5l 3R &1 944 Hiid:

EAEED
E.A.D.C.B
A.E.C.D.B
.A,B,C,D.E
11
(2) 2
(3) 3
(4) 4

b

=

1[Option ID=17309]
2[Option ID=17310]
3[Option ID=17311]
4[Option ID=17312]

Sl. No.79
QBID:111079

Arrange the following landmark events in India-United States partnership in dialogue ascending order :

A, 2+2 status to India

B. 1% (in Person) Summit of the QUAD

C. UN-India Civil Nuclear Agreement

D. President Donald Trump New Delhi visit

E. President Barack Obama's second New Delhi visit

Choose the correct answer from the options given below :

.A,B.C.D.E

(4) 4

FAfafad YR RS ©o UReR! | 55 Uaelid ((eHID) eIl &I ARie! 0 § oIafed ifor-

A. YR P 2+2 TTdl T ol U g1

B. ®1S & AR IHITH ¥ YUH §R W d1ail &1 Ugaee 3URyd g
C. IUE-HRd ANTRE URA] JHS|

D. JIPUId SIHIeS U 1 775 [eell S{AHH|

E. AFUId @RI a1 1 fgdid 75 faeed S|

14 fau U fasedi § 9§ 9a1 3TR &1 99 Pifors:

A.B.C.D,E
D.A.C.B.E
.B,A,C.E.D
HE IR
(1) 1
(2) 2
3) 3
(a) 4

P e

1[Option ID=17313]
2[Option ID=17314]
3[Option ID=17315]
4[Option ID=17316]

Sl. No.80
QBID:111080




Arrange the following global treaties in chronological order :

A. The Treaty of Paris

B. Treaty of Varsailles

C. The Congress of Vienna
D. The peace of Westphalia
E. Treaty of Tordesillas

Choose the correct answer from the options given below :

(4) 4

[afaiad afye Sl @1 3% SIapUIER o8 1 ouaieyd Sifay|

A U 9y
B. 9917 I
RGDEIEADES
D. S thierar &1 Tifg
E. cRISHsArg o1 IfY
I faU U fad eyl § 9§ 9o 3TR &1 98- Hifolts

1[Option ID=17317]
2[Option ID=17318]
3[Option ID=17319]
4[Option ID=17320]

Sl. No.81
QBID:111081

Arrange the following organisations in the chronological order :

A. United Nations Children Fund
B. World Economic Forum

C. BRICS Development Bank
D. World Wide Fund for Nature
E. World Trade Organisation

Choose the correct answer from the options given below :

.A,B,C,D.E




FAfaRad Sa-1 3l 3o R 39 & de & SIapAraR $H 8 aiud S|

A. Hgad Y 91 iy (i)
B.Tay BIRY
c. s G §%
D. W id & ferg fayamdt Ffe

E. fa% R 161
A= fou U fasedl & U gl SR &1 99 Bifoiw:

A B.

nN0wn
mEmg

1. .E
2 o
3 D
4 B

O
POl

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17321]
2[Option ID=17322]

3[Option ID=17323]
4[Option ID=17324]

Sl. No.82
QBID:111082

Place in descending order the following organisations by the year of their establishment :

A. International Maritime Organisation

B. The Organisation of the Petroleum Exporting Countries
C. Council of the Baltic Sea States

D. European Science Foundation

E. Gulf Cooperation Council

Choose the correct answer from the options given below :

1.B.A.C.E.D
2.E.A.D,C,B
C.E.D.B.A
A.B.C.D,E

W

1) 1
) 2
3) 3
(4) 4

frgfafad 9mel o 9ot g gy & sEiE! 0 § g oifag|

A, ST HergH RS

B. & STHISORA S Ugiioras Uaaaiien dcial
C. PSR 3P difeed Jl LeH

D. QRITGT W B3 S

E. TT¢% BI-HIH DGR

A= fou U fasedl & U gl SR &1 99 Bifoiw:

1.B.A,C,E.D
2.E,A,D.C,B
3.C,E,D,B.A
4.A.B.C,D,E

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=17325]
2[Option ID=17326]
3[Option ID=17327]
4[Option ID=17328]

Sl. No.83
QBID:111083




Arrange the following organisations in terms of their total members in descending order : (Maximum to minimum)

A. Asia Cooperation Dialogue

B. Mekong River Commission

C. International Commission on Civil Status
D. World Intellectual Property Organisation
E. International Seafed Authority

Choose the correct answer from the options given below :

1.D,A,C,B.E
2.B.A.C.E.D
3.A.B.C.D.E
4.D,E.A.C,B
(1) 1
(2) 2
3) 3
(a) 4

FAfaRad SaH1 3l 395 oo gl & g ¥ SaRIg! % o ouaieyd sifeu|
A. TR D1-3TORTH SEAN

B. Hap 1 Jar HHIRME

C. TUSRHRHT HHITA 3IF Rfde €ed
D. IS Seqaa3fd UTue] sRHIgeRH
E. SUSHYHT Jlas YR

19 fau ¢ fasbedt & U Hel 9Tk &1 9g- Sifoig:

1.D.A,C.B.E
2.B,A.C.E,D
3.A.B.C.D.E
4. D.E.A C.B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17329]
2[Option ID=17330]

3[Option ID=17331]
4[Option ID=17332]

Sl. No.84
QBID:111084

Arrange the following Army chiefs in chronological order of their tenure-

A. General Bipin Rawat

B. General K S Rajndra Sinhji
C. General T N Raina

D. General J T Singh

E. General B C Joshi

Choose the correct answer from the options given below :

.B,C,E,D,A
.A,B,C.D.E




[afaRad YT sieell B 3 S BIAHUITIR $H I Fayd S|

A. O Ra faft= wad

B. 5-Rd &.09. Jol5; (gl
C. §Rd LU, 3T

D. SR oo, fiig

E. o-Rd a9l o=l

i fSu U [apedl § 1 Tl 3R & 994 S|

B IA
.A,B,C.D.E

1[Option ID=17333]
2[Option ID=17334]
3[Option ID=17335]
4[Option ID=17336]

Sl. No.85
QBID:111085

Organize the following navies in terms of their total number of naval ships in descending order :

A Egypt

B. China

C. Iran

D. Russia

E. United States

Choose the correct answer from the options given below :
1.D,A,C,B.E
5

.A,D,C.E,B
.B.E.

no
[ea S

(4) 4
frafafad <= &t -8 e @ o dersi & deu # sarid wr § coaflud Hifo |
A g
B. 9
C. 3
D. &9
E. A&

1= fou U faeedl & § TEl SR &1 997 BT

1[Option ID=17337]
2[Option ID=17338]
3[Option ID=17339]
4[Option ID=17340]

Sl. No.86
QBID:111086




Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Nayaka, Prasastra and Antapala were military officers during Mauryan period.

Reason R : Prasasir and Samaharta were civil officers during Maurya period.

In the right of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A iz correct but R is not correct

. A is not correct but R is correct

(1) 1

(2) 2

(3) 3

(4) 4

4 &1 Py [3U U B, TP SHTUSYT (Assertion A) P =0 ¥ [ARGd § df GHI 3UP DRI (Reason R) & &U T,

L b

HIHY A : HePTci Q- & 99 A/, THRAT U4 U1 9-0-SaR]
BRUIR : TR WG & HHY THRG1 Ud GHISd UM (S58-3) USRI gl $d U
SR S & el o, - f3u 7Y fasedl ¥ 9 99 Suge 3R &1 99 Sifeg|

LA RREF eI AR R AT Tl IR &

A SRR I TEI E SRR A Gl UrEm el ©
ATSIEORAR IS TS ©

AT T EAFTR IS T

) 1

(2) 2

@) 3

) 4

| ]

)

1[Option ID=17341]
2[Option ID=17342]
3[Option ID=17343]
4[Option ID=17344]

Sl. No.87
QBID:111087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Cabinet Committee on security chaired by the Finance Minister reviews emerging Indian strategic situations. They are final
authority to evolve state security strategy

Reason B : The National Security Council (NSC) meetings are chaired by the Prime Minister of India. The charter of NSC is to evolve an
integrated National Strategy.

In the right of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

1)1

(2) 2

(3) 3

(4) 4

1< S1 B [4U U §, U SIS UT (Assertion A) & U I [AREd § A1 GHI 3HD BRU[ (Reason R) P U 1,

3T A : foaE ST sremer o YRa ArTal IR HHdsd I Sdd g YR Wi [uHtiae) aRfeifagl o arian
FAT &1 d o0-TIT JRET IV BT TR B aret A< T (iR g1

HRUIR : HRA H AP G4 URYE (TTUHE S5 1 3feaeid] HUFHA1 gRI BI ol § | TIgaTY & =1eR 4 U Fafdd Ay
R I B faspRid fovar Srar g

TWRIKT YU & 3l 1, 1= iU U fasedl o 1 9ad Iugad 3R &1 99 S|

A SRR M TE T 3R R, AT IS AR ©
A SRR B § IR R, A DI Yol ARAT 7ol &
AT EAPTR TS S B

AT T EAPTR TSR

e L pa

F L




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17345]
2[Option ID=17346]

3[Option ID=17347]
4[Option ID=17348]

Sl. No.88
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Given bhelow are two statements : One is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A - The origin of economic imperialism can be traced to industrialization in UK in 18 Century.
Reason R : UK. as the pioneer of industrial power, through political and military coercion. made peripheral territories around the world for economic exploitation

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A1s correct but R 1s not correct
4. A is not correct but R is correct
1) 1
(2) 2
3) 3
(4) 4

= &1 B U U §, TP STUDYT (Assertion A) P T fAGd § O GHRI SUD DRI (Reason R) P U H,
By A« 188 9t & &, 7 gu siienfiox ¥ snfife Smrsadrg & 3RY (Swa) &1 Ydbd <@l o 9ol ¢

BRUIR : A110% 3R I I8 (SaRaxi) & 0regn § e widd & sryer (s@vl) & S0 H g8, 7 sifie 2w &g dqu
fasy 7 ofeda e (&= @1 i fean

TRIK DY & il 1, A= 34U T fadedi § 9§ Tl Iugad IR &1 99 D]

LASRREATTUE SRR AT Tl RS &
ARREFI AT AP R, AT Tl AT TSI ©
AT S APIR ITAR
LAITIEAPTRIT R

1) 1

) 2

(3) 3

(4) 4

| S ]

L

1[Option ID=17349]
2[Option ID=17350]
3[Option ID=17351]
4[Option ID=17352]

Sl. No.89

QBID:111089
Given below are two staterments :
Statement I ; Balochistan is part of Pakistan occupied Kashmir (POK)
Statement II : Balochistan is under administrative control of Afghanistan

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II is correct
. Both Statement I and Statement II is incorrect

b =

3. Statement I is correct but Statement 11 1s incorrect
4. Statement I 1s incorrect but Statement IT is correct

(1) 1
(2) 2
3) 3
(4) 4




19 2l Py Ry &

HY 1 - I Tp- i d SRR (dtaiidy) &1 um ('wm

TUT 11 : TR, AP & W=D 80 & = 2

SIRIK] DU & 3{aiiep § i 13T 7T fapedl H ¥ Tad I9gad SR D1 99 HITelg:

1. BYA1 3R 11 S Fel §
2. YT 1 R 11 SHI TTad &
3. BYT 1 9el 8. Ao HYF 11 Tad &
4. PYT 1T B, Wfth BUA 11 T8l §

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17353]
2[Option ID=17354]
3[Option ID=17355]
4[Option ID=17356]

Sl. No.90
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Given below are two statements :

Statement I ; "Neo-realism” is based on rational approach.
Statement II : "Constructivism"” is based on reflective approach.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement I is correct

. Both Statement I and Statement I is incorrect

. Statement I 1s correct but Statement IT 1s incorrect
. Statement I 1s incorrect but Statement II is correct
1) 1

(2) 2

3) 3

(4) 4

R AT Ry

B 1 : T9-TUTATE q T EHBI0 IR SURa g

HY 11 : Targ (i) finefe efe w snufa g1

SWRIG HYH & el T, 1 13U T el o 3 98t I8 &1 994 S

1. PYFI RIS A g
2. YT IR I EH 3§
3. PUT 1 I 2, A HU 11 T 8
4. BYTI AL, AfPT HUT I T ©
(1) 1
(2) 2
3) 3
4) 4

b =

SR S

1[Option ID=17357]
2[Option ID=17358]
3[Option ID=17359]
4[Option ID=17360]

Sl. No.91
QBID:111091




Read the following passage and answer questions:

Kautilya recommended many types of troop mobilization for the standing army, the territorial army, the militia, friendly forces, alien
forces and tribal forees. It is better to mobilize the force earlier than one later. The mobilization shall take into account the kind of troops
the enemy has and the forces necessary to counteract them. The standing army shall be mobilized when there is a surplus force over and
above what is required for defence of the base. The territorial army shall be mobilized when there is large force of militias which could be
used to defend the base and for the campaign. Friendly forces are mobilized when there is a large allied force available both to defend the
base and for a campaign. Alien and jungle tribes are mobilized when there is a gain to the king.

i fou T Ty 1 9feu ud vyl & TR Sifeig|

Pifee A &% YOR @SS amed @ Sgha far o it 31, wefie 1, fefRm, e, s =i 391 ok sHede
1| S Bl 12 B U BT T AHEG bR o1 A9 37=31 Il 8 | AHad] i U3 & S ThiSdl & UPR DI & o
G forar S SR T3 (@) & o 98 maza® g fds S8 d WHTd 811 3= o | STl I91 &1 da aes a1 o1 =gy 5|
o 315 (99) D1 &1 B GG al & AfdRad iUy 711 & I 81| Ui 311 51 9 oHes fodl Se &id fo e 3,
Ryt T B a1l SMYS ged (@9 8| iR &1 a9 ames o s sie ged (@s) Sen § ffufim 91 @) s g
[OTIeT 8 (313) B X&f §q Ud I I 39T faval o Tl ¢ | 7 9131l (§9l) &1 78 a1Hes ®3d ¢ od [ 33 (39) [d
IR S Bt & B oq TS| TH1 995 (TH) 90 AN (SUae) 511 30 <=0 Td 97a & Jg-ard! sHaadl & a9 arag
HA ¢ SIEiP U B T IS T a1y U glar g |

Which of the following troop mobilisation was not recommended by Kautilya?

1. Tribal forces
2. Air forces
3. Friendly forces
4. Militias

1) 1

) 2

3) 3

(4) 4

Fafarad o 9 g 3 amed) &1 Sliced gRI SR (Hxfd) 761 o 1l A

1. SO T
2. IgEAl
3. fFga 941
4. Tt

(1 1

(2) 2

(3) 3

(4) 4

1[Option ID=17361]
2[Option ID=17362]
3[Option ID=17363]
4[Option ID=17364]

Sl. No.92
QBID:111092 .
Read the following passage and answer questions:

Kautilya recommended many types of troop mobilization for the standing army, the territorial army, the militia, friendly forces, alien
forces and tribal forees. It is better to mobilize the foree earlier than one later. The mobilization shall take into account the kind of troops
the enemy has and the forces necessary to counteract them. The standing army shall be mobilized when there is a surplus force over and
above what is required for defence of the base. The territorial army shall be mobilized when there is large force of militias which could be
used to defend the base and for the campaign, Friendly forces are mobilized when there is a large allied force available both to defend the
base and for a campaign. Alien and jungle tribes are mobilized when there is a gain to the king.

= f3u e vt &1 ufeu ud wul & IR iforul

PIficed - B3 YBR & Al dHeal &1 SKld fbar o il 1, Ureiies 91, i, BEgEn, o= Sxiig 81 SR Sedry
AT T B 18 BT U TG T AHeE PR o1 3% 331 511 ¢ | ATHEa! 1 WA & YD syl & YHR &I &= 1
XTGP [ a1 ST SR 13 (@) & o0 T8 S1a9ad S1T 6 S d WA BF $R & | T 1 $1 9 AHac [al ol 9iied o
o5 31g (99) 1 & §q HAGHal & AR iUy 71 & YD gl | WIS I b1 dd =S Il AU &d fob WigiRies T,
T T Dt YA D ggd (Foh) B iR o de aHes fodr S §d ggd (doh) T | i 341 (de) S9esy 8l
[STeeT &4 (319) B & B Ud S o S fogn o Febe ¢ | i 71afl (Sl 1 78 Aes $d & oa (& 373 (a9) U

ST S DI &l B o ao! AHI Ja% (I0H) 96 Hiolg (SUas) 811 39 33119 Ud oiTd & Yg-1aTell seadl & dd e
FR € TEi U] B T Il B arH W s g |




Which of the following is a wrong statement on troop mobilization?

. It is better to mobilize the force earlier than one later

. The mobilzation takes into account kind of enemy troops

. The mobilsation force does not fight the enemy forces

. The standing army will be mobilised only after securing defence of the base

ko =

da L

(1) 1
(2) 2
3) 3
(4) 4

[FrafarEd ® 9 1 3= amecl 9 et 9o o2
1. 1 1 Y31 I AHEE AT €18 § Aras d3- S SfUel S 39ged sidl g
2. TAEIE! 1 YA B U gHISUl & UPR B M T [GH 641 oIl g
3. ATEE I T A1 DI G B 1 Tol asdl o
4, T AT 379 (§9) Bl UiRal & §Te drveie &l S|

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17365]
2[Option ID=17366]
3[Option ID=17367]
4[Option ID=17368]

Sl. No.93
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Read the following passage and answer questions:

Kautilya recommended many types of troop mobilization for the standing army, the territorial army, the militia, friendly forces, alien
forces and tribal forees. It is better to mobilize the force earlier than one later. The mobilization shall take into account the kind of troops
the enemy has and the forces necessary to counteract them. The standing army shall be mobilized when there is a surplus force over and
above what is required for defence of the base. The territorial army shall be mobilized when there is large force of militias which could be
used to defend the base and for the campaign. Friendly forces are mobilized when there is a large allied force available both to defend the
base and for a campaign. Alien and jungle tribes are mobilized when there is a gain to the king.

i fou g Ty &1 9feu ud udl & IR S|

PIfced - Pg YBR & Y- Aeal &1 SKld fbar o Rl 41, Wreiie 31, i, fEgan, o= Sty 41 SR SHedy
AT T 1§18 B U BT T TS PR ST 31U 331 811 ¢ | AT &1 WA & Y ohiSdl & YBR &l &= 1
@S o S SR I3 (@) & fO7U U8 S1axad g7 3 36 d WHTd BF 3% ¢ | ST I &1 76 AFae (a1 o1 91y o g
f& 312 (@9) P18 6] sMawaddl & SifdfRad i<y Aen § Y@ 8f | mefie 341 o1 dd dHdq fhar S 54 {6 urefie 44,
ST T B 3HYE P ged (Fo0) B iR o1 dd wHes fedl S o" §8d (doh) Tea | i 341 (@) S 8
foraeT 9 (319) 31 241 5q U4 MM o I9di foban & Tean & | i 3131 (Sah) 1 79 Ames 3 & 96 (& 33 (§9) U9
ST ST Bl &1 HR 8d TS| AT HaG (M) I Hiolg (SUde) 8l | 39 SRY Ud SivTe H g-1alell sielliadl &l a4 drHeg
Y & OIEid U S O Ao &1 arH UId glar e |

The territorial army is to be mobilised when :

Army is smaller than the standing army
Army is larger than the standing army
Army iz larger than the militia force
Army iz smaller than the alien forces

. Territoria
. Territoria
. Territoria
. Territoria

B O

(1) 1
(2) 2
3) 3
(4) 4

USRS U1 &1 ad AHas [HdT Sl Siaids-

1. UTeTRe 1, R ST BT ST B B

2. IS R1e J1 Sl W13l &1 s §31 (gga) Bl

3. TR I, farferfRrar sl &t aden @€t (gea) g1
4. U fRI® 1 ety Tral of e sidt gl

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17369]




2[Option ID=17370]
3[Option ID=17371]
4[Option ID=17372]

Sl. No.94
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Read the following passage and answer questions:

Kautilya recommended many types of troop mobilization for the standing army, the territorial army, the militia, friendly forces, alien
forces and tribal forees. It is better to mobilize the force earlier than one later. The mobilization shall take into account the kind of troops
the enemy has and the forces necessary to counteract them. The standing army shall be mobilized when there is a surplus force over and
above what is required for defence of the base. The territorial army shall be mobilized when there is large force of militias which could be
used to defend the base and for the campaign, Friendly forces are mobilized when there is a large allied force available both to defend the
base and for a campaign. Alien and jungle tribes are mobilized when there is a gain to the king.

4 fou T Ty 1 9feu ud vyl & IR Sifeig|

Fifced - s YBR & Al ATHadl &I Xl [hal okl IR 41, W1 R 341, iR, s, oma <= 41 3R ey
T T DI 1% DI SHUET [T H AHeE B o1 A0S 331 8ldl & | e B FeR & UH® chiedl & YHR & = 1§
G foaT S 3R I3 (Faih) & o 98 3mava® g s 98 d WHTd 811 31 < | Tl 991 &1 7d @irdee a1 o= =iy 5
foh 313 (99) 1 &1 T HAGHal & HfdRad i<y 711 & I 5| WIS W11 1 dd ees fodl S & fib wigfRie T,
R ST BT YT AP g8d (o) B THRIRE 1 a9 e a1 e o ged (Foh) T H e 31 (&) ST 8l
[SreeT &4 (319) B &l o Ud S & S fobgn o Febell ¢ | i 113l (Sl 1 7 AHeE B & oa (& 373 (99) T

ST S D1 &l B od o HHI Ja% (I0H) 56 Hislg (SUas) 811 37 33119 Ud SiiTd 8 Ig-1arell sieradl &1 dd aiec
TR © OTE1d U1 R o o B A4 U el g |

Friendly forces are mobilised when :

They are larger than the militia

They are smaller than the militia

There are no allied forces available to defend the base
There is large allied force available to defend the base

B rkdies

1) 1
(2) 2
(3) 3
(4) 4

P TTE 99 9IS ©1 S § waid o-

1. 51e 9 fferm & e ged @< g1
2. 519 4 fufeem &t smen sid &)
3. Ofd 31g I &M & foiu ged (S5 AT § Hdg -1 61 Syae gidl 81|
4. 94 313 B &1 & [0 9ga (@) A1 & das (B3) TAE 39a= gidl ol
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17373]
2[Option ID=17374]
3[Option ID=17375]
4[Option ID=17376]

Sl. No.95
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Read the following passage and answer questions:

Kautilya recommended many types of troop mobilization for the standing army, the territorial army, the militia, friendly forces, alien
forces and tribal forees. It is better to mobilize the foree earlier than one later. The mobilization shall take into account the kind of troops
the enemy has and the forces necessary to counteract them. The standing army shall be mobilized when there is a surplus force over and
above what is required for defence of the base. The territorial army shall be mobilized when there is large force of militias which could be
used to defend the base and for the campaign, Friendly forces are mobilized when there is a large allied force available both to defend the
base and for a campaign. Alien and jungle tribes are mobilized when there is a gain to the king.

= f3u e nruiw &1 ufeu ud wel & IR diforgl

PIfCe A T3 YPR & J-d arHaal oI Sia [dar o Rt S1, WSiRie 41, ek, BEd, s =iy 391 &R sFeiy
11 T DI G1E DI SU&T 33T H AHdE B o1 A0S 331 8ldl ¢ | e & Ee% & GHE coiedl & YHR & - §
TGP [ ST SR 13 (Fal) & o0 T8 1a9ad o1 & 3-8 d WA B &R & | IR 41 $1 99 AHae [bal SH1 91iet o
foh 315 (99) P & T HaGHal & HfdRad iUy 711 & IHS gl | WIS T b1 dd eHes fhdl S &d fob Wigfie I,
R T Dt YA D gud (Fo)) B (iR o 99 aHes fedr S §id ged (dob) T | i J-1 (de) S9esy 8
[STHeT &4 (319) B &1 B Ud S o S fogn o Febe ¢ | i 713l (Sl 1 78 Ames $d & oa (& 373 (99) T

ST S D1 &l B o 9o AH Ja% (I0H) 96 Hiolg (SUas) 811 39 33119 Ud oiTd & ¥g-1arell seradl & dd diec
TR © TED U B T Il S & W s g |




Alien and Jungle Tribes are mobilised when :

There is a gain to the king

There is no gain to the king

When the king runs away from the battle ficld
When king befrieds the enemy king

bl i

(1) 1
(2) 2
3) 3
(4) 4

37 2fig v Sive § (g xAaret sHenfadl B a9 ayEs T §dl § Siaf-

. OTE XA 1 BTS ATy Wi gian el

TS 7T B Bl AT W T BT B

oE IS IS &7 ¥ YT \ST el g

e TSI, WG b ol Bl [ & Sl 67

| S

e L

1) 1
2) 2
(3) 3
(4) 4
1[Option ID=17377]
2[Option ID=17378]

3[Option ID=17379]
4[Option ID=17380]

Sl. No.96
QBID:111096
Read the following passage and answer question numbers:

India would be completing its tenure as member of the Security Council in 2022, In our term, we have acted as a bridge on some issues
confronting the Council. We have also focused on maritime security, peacekeeping and counter-terrorism. Indian contribution include
providing technology with a human touch to ensure safety and security of UN peacekeepers. Having borne the brunt of cross-border
terrorism for decades, India advocates a "Zero Tolerance" approach. There is no justification for any act of terrorism, regardless of
motivation. The UN responds to terrorism by sanctioning the perpetrators. India has always exposed a cooperative, inclusive and
consultative approach to international relations. We believe that multi-polarity, re-balancing, fair globalization and reformed multi-
lateralism cannot be kept in abeyance.

foT 710 TIR17%T 1 ufe U Ud UMl &1 3w aiferg|

YRA a9 2022 T GR&TURYE & H&& & Y H o9 SIABId Pl YT SR 71| S0+l Hafy & §99 § 0 URYG & gR1 |IE] [T
W%%@ﬁﬁwwﬁgaﬁmﬁaﬂﬁﬁw%mﬁﬂﬁﬁm&ﬂ ARG 3R 3Mddarg FRie R o &F 31 81 YRd i arTeH

%mwwﬁaﬁmﬁmﬂiﬁgﬁ@ﬁmwé‘gmwu Hae1sfl & Ty Hienfiet wed o1 Wiia g1 yRa A
Emaﬁ@f 311 38 FH1-9R SAiPdTe &1 F6- a7 8 Foreds Ui HRd okl cakd e aIvr 38 3T U&R 81 SR & oAy,
el 2ft afciepaTel TR 1 B Siferc TET &1 S Ay ScdaTE & Wi S dadt B Ho waH e wafhar ST 81
YR 7 H3a SRIPT Il & Ufd U YgdRI, GuaRh U Yo eve i fiam g1

Eﬁsﬂwﬁ?%waﬁ?@—ﬁw, T geH, 3fd TR & d4ieRul Ud JUR! aTd a5 daftdrare &f g ot fufa § 58
31 S Febell 8|

India will be completing its tenure as a member of UN Security Council in :

. 2021
2022
2023
2024

ko=

NEN V]

1) 1
(2) 2
3) 3
(4) 4

HRA TYRI-TY YR URYE & Yo & U H U] SRS (SHaly) fod av § g1 o

2021
2022
. 2023
2024

ko

FER)

(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=17381]
2[Option ID=17382]
3[Option ID=17383]
4[Option ID=17384]

Sl. No.97
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Read the following passage and answer question numbers:

India would be completing its tenure as member of the Security Council in 2022. In our term, we have acted as a bridge on some issues
confronting the Council. We have also focused on maritime security, peacekeeping and counter-terrorism. Indian contribution include
providing technology with a human touch to ensure safety and security of UN peacekeepers. Having borne the brunt of cross-border
terrorism for decades, India advocates a "Zero Tolerance" approach. There iz no justification for any act of terrorism, regardless of
motivation. The UN responds to terrorism by sanctioning the perpetrators. India has always exposed a cooperative, inclusive and
consultative approach to international relations. We believe that multi-polarity, re-balancing, fair globalization and reformed multi-
lateralism cannot be kept in abeyance.

U 71U TR 1 ulgU Ud uHi &1 3T aiferg]

YR a¥ 2022 T GR&TUNYE & Fa=I & T 1 U= SIS DI U S A7 AT 3@y & g0y 1 g0+ URYE & gRI 9] 66U
W1 3§ TS Tl W US IG S &0 H D a1 %1 &5 T FRaf, A-RIeT 3R sMdmars FR1Y R i & &1 81 4R grre
o g g%mwafﬁaﬁaﬁmwmﬁiﬁgﬁ@ﬂmwégmwm Hagrsil & A1y UIeNfie! Ward &1 Wil 81 HRa -
ERI] I Tl 31 @ WHI-UR SAcidbdlg & Hg- (0] g forad Ui YR SiRI TR eib®Iv] 1@ & U&ER & | TR0 & 3us,
el ATt ScpaTe TR 1 S AT EY B | S P SAGBATE U S SR 1 T W e WAt S e
YR - Had SIRIPH Jal & Uld U bR, GHIGRN U goi-idd eivs U [damn g

Wﬁﬂﬁﬁ?%ﬁ%ﬁﬁggﬁﬂﬂ O e, 3d YR & a4[eR0] Ud YR aTd ag defiadrare &f Wi &f Rl 8 =381
G o bl 3 |

Name the field that was not in main focus of India in UN Security Council :

Maritime security

Peace-keeping Operation

. Identification of major gains by South Africa
Counter-terrorism

N

1) 1
(2) 2
(3) 3
(4) 4

39 & (fawa) & aR H Jd1sy off Ygad Y R&M URkue § YRd & J 9% fdg H i a1 U
1. s &

2. Q== A
3. IR0 3PTSHT GRT WA T Wl o U=
4, 3fddarg] Ry

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=17385]

2[Option ID=17386]

3[Option ID=17387]
4[Option ID=17388]

Sl. No.98
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Read the following passage and answer question numbers:

India would be completing its tenure as member of the Security Council in 2022. In our term, we have acted as a bridge on some issues
confronting the Council. We have also focused on maritime security, peacekeeping and counter-terrorism. Indian contribution include
providing technology with a human touch to ensure safety and security of UN peacekeepers. Having borne the brunt of cross-border
terrorism for decades, India advocates a "Zero Tolerance" approach. There is no justification for any act of terrorism, regardless of
motivation. The UN responds to terrorism by sanctioning the perpetrators. India has always exposed a cooperative, inclusive and
consultative approach to international relations. We believe that multi-polarity, re-balancing, fair globalization and reformed multi-
lateralism cannot be kept in abeyvance.

TS0 71U TR 1 UlgU Ud vl &1 3R aiferg|

URA Ty 2022 ¥ & URYE & Gard & 9§ 304 PrDTd $I GRS A1 39+ 3afel & Tag ¥ g ukug & gRI Qe [
m@@gﬁww@gaﬁmﬁwﬁm%lﬂﬁmﬁm&n -RUTTAT SR rdiaraTe R o ot o0 31 81 IRl e

gmwﬁﬁﬁmwmﬁiﬁgﬁ@ﬂmﬁ‘gmwuqudi&ﬁ$muﬁ@ﬁﬁwmmﬁa%lﬂ-ﬂTdff
E{Qﬁﬂ@i‘ 31 X5 HHI-UR siiddare &1 U5 faa § o Uid YR SRl cand eY®Iv T6- &1 U&fER & | SR & 3ue,
el ot aciapaTel TRIfaf 1 IS SAfEIer Y 8 | S Y b P Ui S S Bl Hed) Uar B e S gl
YR = §4d SaRipiy deel & Ui U GgpRI, HIaL Ud gorids ede feamn g1

Wﬁﬁﬁ?%ﬁ%%@ggﬁuﬁ, O e, 3d YR & a41eR0] Ud YR aTd ag defiadiare &l Wi &f [l ° =381
G o IhT g |

The policy advocated by India towards terrorism was :

. Aid terrorist groups

Support terrorism in China

. Partial tolerance of terrorism
Zero tolerance of terrorism

b =

e

1)1
(2) 2
(3) 3
(4) 4

Tddpare & Wid URd g1 gafdd Aifd off-

1. ToiTg HeTa U STdware] 998
2. 99 afdaarg &1 gada &3l
3. 3T arg & Uid ke Qigwld (Cleed)
4, HTddalg & Wid SRl elasy
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17389]
2[Option ID=17390]

3[Option ID=17391]
4[Option ID=17392]

Sl. No.99
QBID:111099
Read the following passage and answer question numbers:

India would be completing its tenure as member of the Security Council in 2022. In our term, we have acted as a bridge on some issues
confronting the Council. We have also focused on maritime security, peacekeeping and counter-terrorism. Indian contribution include
providing technology with a human touch to ensure safety and security of UN peacekeepers. Having borne the brunt of cross-border
terrorism for decades, India advocates a "Zero Tolerance" approach. There is no justification for any act of terrorism, regardless of
motivation. The UN responds to terrorism by sanctioning the perpetrators. India has always exposed a cooperative, inclusive and
consultative approach to international relations. We believe that multi-polarity, re-balancing, fair globalization and reformed multi-
lateralism cannot be kept in abeyance.

U 71U TI=I7=1 1 UfG U Ud Ui 1 3T &g

YRA a9 2022 T Y& IRYE & T&8 & &9 H 397 SAHTE Hf IR HR A1 01 3afy & I99 1 507 uRue & g1 9 o
o 38 T Yol IR US 9g & &9 1 PR (501 8 | 81 TYa GR&f, M-I 3R SHdearg FRiY R Hi & 347 81 YR girer
ﬁw%mwaﬁﬁaﬁ&ﬁquﬁﬁiw@@ﬂmw%@wqﬁu HagAT3ll & 1Y Ui Ug H=-1 Qe § 1 YRd =

311 38 FH1-9R AdPdre &1 Te a7 3 s i HRd oik! oo™ 2o T 37 UarR 81 R0 & sy,
el o7t aciapaTel TRIfaf 1 S S Y B | S Y SAibaTE P Ui U S Bl Herd) Uar B e ST gl
HRA 1 Haa SIRIPI Jael & Ui U bR, GHIGRN U goi-iieid eive U G g

msﬂwﬁgwm%%@gﬁum gRiqeH, SRId UPR & il Ud GURI aTd ag d&fiadiarg & e & fufa § =g
G o Gl 3 |




Which of the following approach was not adopted by India towards international relations?

Cooperative
Inclusive
3. Conflicting
4. Consultative
(1) 1
2) 2
3) 3
4) 4

fFrafafad § 3 oH-a1 o0 YR §RT SFaRigi Sel & ufd 76T so=mrmn

1. BRI
2. gHa9l
3. TRER ot
4. FoTTED
1) 1
(2) 2
3) 3
(4) 4

b

1[Option ID=17393]
2[Option ID=17394]
3[Option ID=17395]
4[Option ID=17396]

Sl. No.100
QBID:111100
Read the following passage and answer question numbers:

India would be completing its tenure as member of the Security Council in 2022. In our term, we have acted as a bridge on some issues
confronting the Council. We have also focused on maritime security, peacekeeping and counter-terrorism. Indian contribution include
providing technology with a human touch to ensure safety and security of UN peacekeepers. Having borne the brunt of cross-border
terrorism for decades, India advocates a "Zero Tolerance" approach. There is no justification for any act of terrorism, regardless of
motivation. The UN responds to terrorism by sanctioning the perpetrators. India has always exposed a cooperative, inclusive and
consultative approach to international relations. We believe that multi-polarity, re-balancing, fair globalization and reformed multi-
lateralism cannot be kept in abevance.

foU 10 T 1 UTe U UE vl &1 3R aiforg]

YRA a9 2022 T YR&TIRYE & T&8 $ &9 H 30+ SPGB IR HR A1 S0 3afy & T99 § 507 IRuS & aR1 Ae U
N1 3R B el R TS 9 & &0 8 o o2 31 5 I JRef, MA-WIeT 3R srddhare FR1Y o o e 31 81 HRda grrar
o g g%mﬁf@maﬁaﬁaﬁmw@ﬂ?ﬁgﬁ@ﬂwﬂ%gmwu Haa-T3l & Ty Uit Uar o1 e § 1 YRd =
TR Y T 3 75 YIHI-UR SMddware o1 T o ¢ forad wlt YRA Sik] gend eI 3@ &1 U&R 8| SR & sHuy,
el o7t aciapaTd TRIfaf @1 IS SAfEier et 31 S Y SAibaTE P Ui U S I Hepd) Ua B e ST Bl
HRA A Hed SeRIPII ael & Uld U PRI, FHIARN Ud Jo-Iei® €8 U a1

Bﬁ?ﬁrwﬁ?%ﬁﬁ%ﬁia@m, TAE e, 39d UPR & a4IeR0l Ud GURT aTd a5 dafiadrare &l 9T & [yl o 781
G o APl 5|

Which one of the following aspects was not supported by India :

1. Terrorism
2. Multi-Polarity
3. Re-balancing
4. Fair globalisation
1) 1
(2) 2
3) 3
(4) 4

YR gRI FEfaREd @ 3 ®1H-91 U6 U (Ysd) S IRUTH &1 Rufd & 781 @ oral 82

1. dddlg
2. SgUagdm

3. gAEad
4. 3HId UBR FT AHI0
1) 1
(2) 2
3) 3
(4) 4




1[Option ID=17397]
2[Option ID=17398]
3[Option ID=17399]
4[Option ID=17400]

Sl. No.101
QBID:9201001

The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
5 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafafad arferer & adf 2010 3R 2020 F ERF T YR WERT A4 TR, e, FaxmEmE, gol, I9%,
0Ieg SR DAl § Slgcl J Yaldd Al o Ridaal &1 uiard fqaro e mar g | a¥ 2010 3R
2020 & GRA 57 WERl § Rfaaal Bt $a 361 Bk 5.4 TR 3R 8.6 @G § | 59 difadl § fgu e
MHSI & MYR R IY BT IR ST -

TieRal @t Rieaal o1 Iexar fadaeo

HIdiRd! ®1 il ol
T[T [EEEUEED)

b010 2020

S |15% 2%

Sl D1%  [20%

aoadlG [10% 8%

o] 12%  |6%

EEE 8% 10%

mEy [l [is%

Diddal 4%  [16%

What iz the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010
N

. 108200
. 113120
. 118400
. 96400
(1) 1
(2) 2
3) 3
4) 4

a9 2020 3R 2010 H S7TAR & Iuas Sl o Ridaal @ 9@ § siR feaag 2

kd =

SR N

1. 108200
2. 113120
. 118400
. 96400
1) 1
(2) 2
(3) 3
(4) 4

ES S

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]

Sl. No.102
QBID:9201002




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

it @1 Rfdaar o1 weaR faawor

HIdiRd! ®1 il ol
e [CERURED)

D010 2020

S |15% 2%

sl D1%  [20%

BoXEIG [10% 8%

o] 12%  [6%

EEE 8% 10%

Ty J10%  [18%

DB 4%  |16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

. 41080
. 42740
. 61400
. 62800
(1) 1
) 2
3) 3
(4) 4

a9 2020 3R 2010 § ge3ETg § Suaw AieRal @f Ridaal &t i e feat g 2

. 41080
. 42740
. 61400
. 62800
(1) 1
(2) 2
3) 3
(4) 4

b=

R IV}

k3=

I S

1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]

Sl. No.103
QBID:9201003




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

it @1 Rfdaar o1 weaR faawor

HIdiRd! ®1 il ol
e [CERURED)

D010 2020

S |15% 2%

sl D1%  [20%

BoXEIG [10% 8%

o] 12%  [6%

EEE 8% 10%

Ty J10%  [18%

DB 4%  |16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

. 1.92 lakh
. 1.98 lakh
. 2.04 lakh
. 2.16 lakh
(1) 1
) 2
(3) 3
(4) 4

ay 2010 T =93 3R 99 2020 & gias T IUae Aiebied] & Ridqdl &1 $o Sl fda-i g 2

. 1.92 Tig
. 1.98 Tl
. 2.04 TG
C2.16 g
1) 1
(2) 2
(3) 3
(4) 4

b =

S IV}

L

1[Option ID=19509]
2[Option ID=19510]
3[Option ID=19511]
4[Option ID=19512]

Sl. No.104
QBID:9201004




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

it @1 Rfdaar o1 weaR faawor

HIdiRd! ®1 il ol
e [CERURED)

D010 2020

S |15% 2%

sl D1%  [20%

BoXEIG [10% 8%

o] 12%  [6%

EEE 8% 10%

Ty J10%  [18%

DB 4%  |16%

If the number of vacancies in Pune 1s 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

. 1.20 lakh
. 1.32 1akh
. 1.48 lakh
. 1.60 lakh
(1) 1
(2) 2
3) 3
(4) 4

afe v 2020 B qui § Rfdaai &1 TRear 48000 8 AR @1 Hia=id facRor 391 &1 § Sie difes 3 fan
2, aray 2020 # fEoctt § Suas Ridayl @t e feat § 2

. 1.20 WM
. 1.32 WG
. 1.48 Tiig
. 1.60 ©lE
1) 1
(2) 2
(3) 3
(4) 4

kd =

ER N

L

1[Option ID=19513]
2[Option ID=19514]
3[Option ID=19515]
4[Option ID=19516]

Sl. No.105
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

il &1 Riddl &1 WeaR faawu

HIdiRd! ®1 il ol
e [CERURED)
D010 2020
S |15% 2%
sl D1%  [20%
BoXEIG [10% 8%
o] 12%  [6%
EEE 8% 10%
Ty J10%  [18%
DIadl 4%  [16%

What is the approximate percentage rise in job vacancies available in Hyderabad from year 2010 to 2020 ?

.23.21%
24.52%
.26.24%
.27.41%
(1) 1
(2) 2
(3) 3
(4) 4

ay 2010 T Y 2020 TP S50aIE T Iuais b Rl Bl Rfdqal T @t fba- uiasd &1 afg gs 2

.23.21%
24.52%
. 26.24%
.27.41%
(1) 1
(2) 2
3) 3
(4) 4

k=

S IV}

N

S )

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]

Sl. No.106
QBID:9201006




The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A Infosys Ltd.

B. Google Inc.

C.TCS

D. HCL Ltd.

E. Persistent System Litd.

Choose the correct answer from the options given below:

.B and D only
. C and E only
A and C only
.B and E only
(1) 1
(2) 2
3) 3
(4) 4

g H WU (SWAYAM) F TeHH F9 H T fhus Jeam 3 e Haray 3R TAdeisud (NPTEL).,
TS 3Rl (IIT) HEIN gRI faaid fear T g |

A, 5pINYY fafes
B. 7T 5.
c. gy
D. (g fafics

E. it faen fofies
i fSu U faPedl § U U5l 3R &1 9494 il

1. Had B 3ARD
2. FadC ARE
3. PadAARC
4. Hdd B IR E

1) 1

) 2

3) 3

(4) 4

b —

= Lo

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.107
QBID:9201007

Match List I with List IT

LISTI LISTII
(Component) (Learning Theory)
A |Stimulus-Response I |Cognitivism
B. [Networking II. [Constructivism
C. |Schemas III. |Behavicurism
D. [Reasoning I'V. [Connectivism

Choose the correct answer from the options given below:

AT BT G, DRIV
. A-IIL, B-IV, C-1, D-II
A-IV, B-I, C-II, D-III
. A1, B-IV, C-III, D-I
1) 1
(2) 2
(3) 3
(a) 4

b=

I Y




el 191 gl 11 8 e piforg

I II
gﬁ@ (ar_fﬁgrﬁm
L

A [SEIT-3har BRIEEIH
B. [Hedfdd I [EREEG
C. [&udE Il [ofagRarG
D. [dwdl IV. [SareHarG

fafdRad fdsedi ¥ 9 |8l 3R &1 904 DI ;

1. A-I, B-IL, C-III, D-IV
2. A1, B-IV, C-1, D-II
3. A-IV, B-1, C-II, D-III
4. A-T1, B-IV, C-IIL, D-I
1)1

(2) 2

(3) 3

(4) 4

1[Option ID=19525]
2[Option ID=19526]

3[Option ID=19527]
4[Option ID=19528]

Sl. No.108
QBID:9201008

What does the letter 'R’ in instructional design model of teaching '"ASSURE' stand for?

1. Require Teacher Participation
2. Require Learner Participation
3. Require Society Participation
4. Require Parents Participation

1) 1

2) 2

(3) 3

(4) 4

[R1&07 BT SRS SHildHed IS 'ASSURE' ¥ 38R R g oy 1ar g 2

1. IS UIGUTHTT P e/ Mavaddl
2. fErTHS Al UTaHIATaT ST SU&T Tavgedl
3. OIS D1 GIaUTIar 1 sraeadar
4. TI1-fUd B Ui HIRT @1 SraRgahdr

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]

Sl. No.109
QBID:9201009

Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main

investigation

Statement II: The basic function of cumulative case studies is to make unfamiliar familiar and to give readers a common language about

the topic in question.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but statement II is incorrect.
4, Statement I 1s incorrect but Statement II 1s correct.

(1) 1
(2) 2
3) 3




(4) 4

Py T E:
G 1 - FH-ARN WSROI () ST B WY $1d G0 3-8 S U Ugd Wl &1 Afgd &1 3R

019 & YbRI &1 99 BT § |

DY 11 : Gl TR0 (@) HFGA! BT WS SR S151d &1 J1d SIAT SR OTIHTd 9 & aR § 96®|
& o0 U T U1 Ve $RATE |

SWRIE PUH & et T, 13 3w U fased] T 9§ Yl SUgad 3R &1 997 Bifd:

1. YT 1 3R 11 §H1 T8l gl
2. PYT I AR 1 EH Tad g

3. PUF 1 TE1 B, U HUF 11 Tad B
4. DY 17107 §, AT Y 1 el B

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.110
QBID:9201010

Grven below are two statements:

Statement-I SWAYAM Prabha is an initiative of the Ministry of Education.

Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II 1s false.
. Statement I is false but Statement II is true.

1) 1
(2) 2
3) 3
(4) 4

f= S ey R U :
HY I : TG WHT (SWAYAM Prabha) RIeM @@ Sl U@ Tga § |

o =

RN )

Y 11 : DTH e W04 (SWAYAM) UHT & SREHH! & TR & [T 598¢-30 SUTE T UG HIIB &
|

IR Y & el 1§, 19 {3 T fawed 1 3 98l 3R @1 9 i
1. PUAI AR I A A B
2. BY 1 R GH 3T 5
3. BYT 1 9 &, Al HYF I 3T 2

4. DY 3T B, A YT 11 TA B
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]




Sl. No.111
QBID:9201011

Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # .
where (pq) and (u,) are the population means of the two populations, respectively.

Statement II: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false,
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

TS eyE U

P 1 : AT & S SR & Tieor o Y R URBeTT BT SHAR R §H YR AHordd fdar ST e
Ho : 1y % o, 1y AR p, & SEREITS & R GREE 71§ |

U 11 - 979 Ffieel B ufeasl 81 § SR SFRiean JER0 S 5 & Tig 99 I ol 91d €, 99 9
GRS b URIEUT b [T Z-URIE01 &1 Wy e [T ol & |

TRIF FUF P e 5, 419 fu U fawed! o T T8 SR &1 997 S Ife:
1. P RIS Y &
2. YA IR 11 GHT ST &1

3. BYT 1 9 &, Afh HYF I A B

|

4. YT IR, AfFT HUT I g =
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]

Sl. No.112
QBID:9201012

If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

1. Quota sampling
2. Convenience sampling
3. Purposive sampling
4. Random sampling
1) 1
) 2
3) 3
(4) 4

Ife U Yyddl a3 Ufdes &1 99+ 59 YR I S1 I7edl ¢ [ 980 el § Udd e &l
Ufaesl Tg & 99 3faER UK &Il 6. dl 59 e &1 Ufdes 9o FefafGa A d oH.ag 2

1. BleT ufaes 9u
2. glauTere wiaex 9u4
3. PO Ve =
4. ATl dfaes 9u
1) 1
2) 2




3) 3
(4) 4

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]

Sl. No.113
QBID:9201013

In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

. transit

. transported
3. translated
4, transeript

b2 =

1) 1
(2) 2
3) 3
(4) 4

Ty et ok urg fewoft & el & wafi-aft <ivedf deémer + &1 i o § ot s & -

1. YRdg-
arfed

& GIE]
PIIIE]

Fie ik

1) 1
) 2
3) 3
(4) 4
1[Option ID=19549]
2[Option ID=19550]

3[Option ID=19551]
4[Option ID=19552]
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Given below are two statements:

Statement-T Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement II : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I 1s correct but statement II is incorrect.
4, Statement I 1s incorreet but Statement II is correct.

1)1
(2) 2
3) 3
(4) 4

9 @ e feg e &

HYA 1 - TS 2 fafRiya: st ki sidT 8, Safd umds <Y 1 1Y SUNE FRIgareg =9 9
FRFGER |

T 11 : AEIES SR 0TS G| HDR & Q1Y 3ids] & AP0 4 Hafd s @ |
SRIK DU & 3iTaiiep H, 1= iU ¢ faeedi § 9 ¥ed 3Ugad 3R &1 997 DIWE:
1. ®YA 1 AR 11 G Fel 8
2. BYA 1 R 11 GHI 7Ted &1
3. PYA 1 I 8, Aich HYUF 11 7ed g
4. PYT LI €, Aich P 11 98] ¢

1)1




(2) 2
3) 3
(4) 4
1[Option ID=19553]
2[Option ID=19554]

3[Option ID=19555]
4[Option ID=19556]
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A student commits Level 2 plagiarism while submitting thesis/dissertation. As per UGC regulations, the

student shall be ;

1. Debarred from submitting a revised seript for a period of one year.

2. Debarred from submitting a revised script for a period of 6 months

3. Asked to submit a revised script within a stipulated time period not exceeding one year.
4. Asked to submit a revised script within a stipulated time period not exceeding 6 months.
1) 1

(2) 2

(3) 3

(4) 4

U faedf fasyfaemer srar SminT & faf-ael & SF-R 9 MY Wee/ayg XY vay J e IRl &
TR 2 F1 IR Bl g | 9 H A g siaria faemdf &1 Sfsa fear s 2

1. T% a8 31 3iafe) & forg S uigfaft om e @ afola @ famr s
2. 6 T8 BT 3@ty & forg ARNTUT gigett STH1 <= ¥ afoid SR f&a1 Jem|
3. % 9N & Iy & e STad gHaaly & Hifed uigiaft o &3 &1 Sel \g|
4. 6 HTE B 3l & 3iex a1 FHAEY H IR Urgiciit AT B Bl Sl S|
1) 1
(2) 2
3) 3
4) 4

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]

Sl. No.116
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According to Pierre Bourdieu cultural capital, through communication is for:

. Political benefit

. Military benefit

. Trade benefit

. Socio-cultural benefit

1)1
(2) 2
(3) 3
(4) 4

R S1fEg & SRR, THY0 & A1 I i as doit § Fifed e grars 2

1. reHifa® Y
2. 3y
3. TR &H
4. FIHISS -HRPpidh TH
) 1
) 2
3) 3
4) 4

R O R

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]
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Inter-personal communication iz most often considered as :

. Dyadic

. Within oneself

. Many-to-many

. One-to-huge masses

b =

S TS

(1) 1
(2) 2
3) 3
(4) 4

3~R-aufdad GUYUI UTT: S 39 H GHAT G © :
1. gy (Safss)

2. g H
3. g0 Y 95 @i 3R
4. U Y (=Tl S aeel &1 3R
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]

Sl. No.118
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The mechanical model of communication is characterised by:

A, Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

A. B and C only
.B.Cand D only
.C.D and E only
A.D and E only

b2 =

e L

1) 1
) 2
3) 3
(4) 4

o & Tifae Atsa wiaey) it R g -

A SgIae-TrTl yarg
B. U&-HT yaTg
C.UF § 3FF P AR

D. JHFIddl
E. gitp g=fe /g

14 fau e faeredl 7 9 Il Sugad SR &1 98- S

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]
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Given below are two statements: |

Statement I ; In communication, semiotics has the objective of describing how meaning is generated.
Statement II: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I 1s true but Statement I is false.
. Statement I 1s false but Statement II is true.
(1) 1
(2) 2
(3) 3
(4) 4

PRy E:
DY 1 - GUYUT H, T d g § 59%1 auia @ B35 sidl ¢ 1 ol $8 e o g |
@ 11 : U8 B8l W1 ¢ 196 Hebd (G311 g8 W § 1a o faeil e &1 aa R g |
IR FYA P AP 4. g 20 7Y [dmedi § I ol Sk &1 9094 BT

1. FYA 1 SR 11 SH1 T B

2. FYF 1 AR 1 3HI S &

3. YT 1 9 €, A HYUF 11 3T 8

b =

e L

4. DY TR, AT FUT 1 A B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19573]
2[Option ID=19574]

3[Option ID=19575]
4[Option ID=19576]
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Given below are two staternents:

Statement I : Communication has the power to define, persuade and inform issues and events to the people.
Statement II: Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

(4) 4

b =




TPy

ﬁﬂ?{_g SO 1 ST gel iR geArs!l &1 uRyIiNd S, S9H SR giad S 3 widd FHigd
B g |

B 11 : YU AR H IR & U WY & U H Udl 1ol o Ibdl 6 |
SWRIH PYF & el H, 1 [3u Y fasedl § 9 96l SR &1 99 SIS
1. YT AR 11 S T §
2. U1 AR 11 GHI ST 5

3. PUT 1T g, AP HUT 1 ST 5

4. PYT 1 ITA &, AT YT 1 ID B
(1) 1
() 2
@) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]
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Two old cars are sold for Rs. 48,000 each. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

1. 4% loss, Rs. 4,000 loss

2. 4% profit, Rs. 4,000 profit
5%
2

3. 5% loss, Rs. 40001033
4. /optoﬂt Rs. 2,000 profit
(1) 1
(2) 2
3) 3
(4) 4

& R BRI H I YA 1 48000 UL T &1 ST § | TP DI 20% & A1 R 991 oIdl § 3R il bl
20% BIf TR ST ST § | P §U ATH/ET Uio=rd &t aur and/gr= 3t g o= i 31 Fifse |

1. 4% B, 4000 394 B1F

2. 4% TTH, 4000 ¥9Y ATY
3 %Eﬂ?{ 4000 ¥9Y BIH
4. 2% 1Y, 2000 ¥9T 1Y

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19581]
2[Option ID=19582]
3[Option ID=19583]
4[Option ID=19584]

Sl. No.122

QBID:9201022
If 10" term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms is 3. then find the first term of the series.

16
10
7

13

fatila f

1) 1
(2) 2
(3) 3
(4) 4




afe e griaR 4of (udh) gaan & 1097 Ug 34 § SR 51 <1 HHNTC 9al & 07 of<R 3 8, 79 §@aI &
YYH UG ! J1d HIIT |

1.16
2.10
T
.13
(1) 1
) 2
(3) 3
(4) 4

)

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]
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The average age of a commuittee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What is the average age of the new committee?

. 39.5 years
. 41.2 years
. 38.2 years
. 40.7 years

b =

RS

1)1
(2) 2
(3) 3
(4) 4

10 G2&i arell fodl! ilfa 31 offed omg 42 a9 € | TP 53 99 B 37 aTel Y& aIgd gidl 8 3R
SUHT R UF 45 TY & U U G5 R [01 S1a1 § | 3@ 59 8 AiHia &1 b g fea-ii g 2

.305TY
41299
38299
.40.7TY
1 1
) 2
@) 3
4) 4

L

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]
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Consider a two digit number. If the digits of this number are interchanged, the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

e L b
i L -1 GO
G =1 Lh e

1)1
(2) 2
3) 3
(4) 4

3l 3w @1 e R AR S | 9fe 59 9= & @] &1 Se-a5al @ a1 Sl ¢, a9 -5 W 9T
U5 1 (o) ST 9§ 18 P G Al 8 | AfE W & il 1 4 12 8, 79 Ued &1 () &1 J1d $Ifog
|

1
o,




(4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]
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In a certain coded language: (A) 'muj paa doda' means 'bring me water' (B) 'paa jo toda' means "water is life' ©
'Jo lin kota' means 'life and death'. Which of the following represents 'is' in that coded language?

. paa
. kota
. toda
Jo

b2 =

SR N

(1) 1
(2) 2
(3) 3
(4) 4

fep il (2 peag W H

A. 'Muj paa doda' @I 31ef fsim ot arex
B. 'paa jo toda' @T 31 TR 591 AZH'
C. o lin kota' ®T 3¢ AEE UUS SY

T Peas T H FHEfafead & 4 & tis i Hofud deare 2

. paa
. kota
. toda
Jo

:L“(..\-\Jl-\.ﬂl—‘

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19597]
2[Option ID=19598]

3[Option ID=19599]
4[Option ID=19600]
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QBID:9201026

"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance is fatal to the average mouse". Which of the following statements regarding above
argument are true?

A Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conclusion.
C. It is a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

. A only
.B and C only
.B and D only
. C only

[ SR

e L

(1) 1
) 2
(3) 3
(4) 4




"X uerd &1 10 o 10 961 &1 Raamar | 3§ it gl fiFe 8 R | $ig g8 sy e ol ¢
%XW%@WW 3Hd-3U ¥ Jgi o [0 urae § 1" SWRidd giaa & gy & Fafafed -9
FUTTAE 2

A 598 fdTdt Iieru BT adbeN § |
B. 39H UfvioR RIfE w1adham & |

C. U8 U@ Yee M g ¢ |

D. U5 T DHIR HETIES gad & |

i< fu U faedl © ¥ Jal SUgad ST D1 949 BIfuu:

1. %ad A
2. FadB AR C
3.%dd B 3R D
4.$ad C

1 1

) 2

@3) 3

(4) 4

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]
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If the statement 'all golf players are rich persons' is given as true which of the following statements can be
inferred to be true 7

A No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

.B and D only
.Band C only
.Aand D only
. Cand D only
(1) 1
(2) 2
3) 3
(4) 4

afe wue Tt iew-faaret ol oofda & &1 wet & = B fgm man & 99 Fufaf@a R o= sa an
& ¥Y T ST (61 ol 9Pl § |

A B8 i Tiew faarst st afda i 8 |
B. T 7liew Ears! 4=l aldd g |
C. $© yl aafdd Tiiew st § |

D. $© 7liew [aars! ¥+l aifdd 781 © |
=i feu T fa el 7 9 Yol SUgad SR 1 90 DI

1. HadB ARD
2. HadB 3R C
3. %ad A AR D
4.FIACIARD

(1 1

2) 2

@3) 3

(a) 4

b =

[N ]

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]
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Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

. No dogs are friendly animals.

. Some friendly animals are not dogs.
. Some friendly animals are dogs.

. Some dogs are not friendly animals.

b =

S S

(1) 1
(2) 2
3) 3
(4) 4

Faffad & § SH-a1 HuA, it S fisad SR & S 1 T § 2

1. 1% 1l Sl HAad SHaR 781 © |
2. 5 [Fad THR T 81 § |
3. 76 TAad AR PO § |
4. 58 T fEAad TR A § |
1) 1
() 2
3) 3
(4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]
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Which of the following statements are logically equivalent ?

A, Some fishes are not amphibians,

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

.Aand B only

A. B and C only
A, Cand D only
. Cand D only
1) 1

(2) 2

3) 3

(4) 4

Al $H.9 HuH diied U 9 TAE § 2

A TF ISl SUTER T8I § |

B. $% ARG SHTR T |

C. T ol IRIUTRE |

D. T8 IR-SUTR, TR-ASH 761 ¢ |

- feu e foe el # § 93 UG SR 1 99 P

1. $adANRB
2. BaAA, BIARC
3.PdAA, CIRD
4. PHadC3ARD

1) 1

2) 2

(3) 3

(4) 4

bd =

ER N

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]
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"There is smoke on the distant hill. Since smoke iz always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above argument according to classical
Indian school of Logic?

. Hill
. Fire
3. Smoke
4. Smoky hill
(1 1
) 2
(3) 3
(4) 4
"R YT gdd W 431 § | Fifes oTeT yaif €1 & 98i wad o1 il 8. gdd WR 3ra=g g1 371 i gl
m%‘q*%mﬁmm’iwn}‘cﬁﬂwwaiajwe SRIFd gfdd o Fgifed &1H-91 U 91 (1 Ue) &
JR=9 82

ko =

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]
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A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs onto a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

.8GB
.16 GB

32 GB

.24 GB

(1 1

2) 2

(3) 3

(4) 4

et w Heifid 1fig, i eR 1 4 g g s | 3Afid U 4000 i &1 90918 fes & wmiaid
HAI 51 § | DT oY [ SATid H1 I arge & 7ad [0 SHR &1 THR] ed &1 9ai &3
P IMaegEd grl |

s i aTged
.16 T S5 cH
327 arged
24 7T STged

1) 1
) 2
(3) 3
(4) 4

R

L

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]
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Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

A and B only
.B and C only
. Cand D only
.Aand D only
1) 1
(2) 2
3) 3
(4) 4

TiaTsd TUYr 3 g fgyeord TR IR 457 gafild vt o soft gofia geifiet <y € wfownfig
B M | 557t gafid Hesd TRt & 94e ol | Fefafea § 9 s s mia g 2

A SeE I [0 g 31l Sia-gioiaa
B. SI3als I 39 i

C. $H gsfdgy

D. T R A R R a9 319 fqea

2 fou T fawed! & 9 98 SR &1 99 S

1. Pad A AR B
2. HaAB 3R C
3.%dd C AR D
4. FAAAIARD

(1 1

) 2

3) 3

(4) 4

ol S

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]

SI. No.133
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Given below are two statements: With reference to digital initiatives of Government of India.

Statement I : BHIM is a payment app that lets you make simple, easy and quick transactions using Unified
Payments Interface (UPI)

Statement II: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I is false but Statement II is true.

1) 1

(2) 2

3) 3

(4) 4




YRd WHR ] A0 tgadmeial ¢ e i s syafeumue:

HU 1 : STIASTH (HIH) T TH YA U € Sl A0 GHBTes UHeH U9 (GUisfs) 1 i a3 R,
ITH 3R G YoUTER B adl § |

B 11 : WG WEHTH o HIZH U Uex UIouhH GAaH arld W SUde § |
SWRIH PYF & el H, 1 [3u Y fasedl § 9 96l SR &1 99 SIS
1. BYA 1 SR 11 ST T B

2. U1 R 11 GHI ST 5

3. PUT 1T g, AP HUT 1 ST 5

4. PYT 1 ITA &, AT YT 1 ID B
(1) 1

(2) 2

@) 3

(4) 4

1[Option ID=19629]

2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]
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Which one of the following acronyms is matched incorrectly with its full form?

. BIOS - Basic Input/Output system

. PDA - Personal Digital Authentication
. GUI - Graphical User Interface

. WWW - World Wide Web

(1) 1

(2) 2

3) 3

(4) 4

Frafarad O 9 &1 91 S =18 $/9- 0¥ 719 4 981 aie § o] A g 2

1. dleTS Uy - §if® g9ge/#3eye ey
2. 1iEie - ol fooitea sifdfedss
3. SIS - Wb ToR ey
4, &Y Sy, 3&] - Ao dIgS dd
1) 1
@) 2
@) 3
) 4

b2 =

e

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]
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Identify the correct order of the following terms A-D to complete the sentences given below about digital still
and video cameras: Cameras that handle a higher number of will be able to capture more details than
those with a lower number, Images that are stored in a format have not been processed and will take up
more storage space than images that are stored in a format. The  of your storage device determines
how many images you can store.

A.JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:

.C.B,A,D

1
2

oW
oy
F P
nYn

= Bk

1)1
(2) 2
(3) 3
(4) 4

fsiiea fea ok difsal BRI & Jau ¥ 7 o/l &1 [ &+ & fo Fafafad 9gi A-D & Te 3 Pd
P ggdH DIl ;

DI AR AT B YU alel HHY 361 HH AT arall B! qa1 1 H1ee [qaor ur H
qIa | UR=9 H HeIRd Bidal &1 umpHu T8l [Gar mare iR g UR=9 | Ya1ia sfaaf
@1 o 1 sifee YSRU RIH T | 31U SR SUSHR0I B i ear g & o fea
Byl &1 HSRUI B bl |

A, Sidigelt

B. 3RUS&Y
C. BmfoaET

D. &%l
e fau U fadedl § 9§ He| 3TR &1 99 Bifow:

1[Option ID=19637]
2[Option ID=19638]
3[Option ID=19639]
4[Option ID=19640]
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Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement II : 2010 was also the target vear to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
1) 1
(2) 2
(3) 3
(4) 4




& S Py Ry e
HY 1 : GG AP BI HERIHT A G 2010 DT SRPIY oid fafaerar a8 Gifvd far o |
HUF 11 : 2010 T5 e oy ot o1 foras Sa fafawan § gra o favm o1 urd Sz o |
SRIKT DU & 3l 1, 1= iU U fadedi § 3 Yl 3Ugad 3R &1 99+ DIT:
1. BYA I SR 11 5 el g
2. BYAI IR GH Tad § |
3. BYT 1 9l 8. A HYUF 11 Tad o
4. PYT LI 8, Aich P 11 Fg1 5

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=19641]
2[Option ID=19642]

3[Option ID=19643]
4[Option ID=19644]
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away, will have a light at
home.

Statement IT ;: Mission of International Solar Alliance: Let us together make sun brighter.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are correct.

. Both Statement I and Statement I are incorrect.
3. Statement I is correct but statement I is incorrect.
4. Statement I is incorrect but Statement II is correct.

(1) 1

(2) 2

3) 3

4) 4

19 2 P R
HY 1 : SARTPI IR EY 1 D10 (f49): e WR 1, = a8 fava1 4 g 81, Wi 8 |
HY T : SRRIPIY YR A &7 2. 89 Fal firet = g i 3R 42 S &Y |
SR B & 3l o, 53U 7Y faedl ¥ 3 Yad SUgH SR &1 90 BIeg:
1. U1 3R 11 &1 Fel g
2. HYF 1 SR I EH 7TeTd g
3. BYT 1 9al 8. Al HYF 11 Tad o
4. YT 17TAd ©, Afth HU 1 981 ¢

(1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]
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Full form of IPCC, a nodal agency in the context of climate change, is:

Intergovernmental Policy on Climate change
Intergovernmental Panel on Climate Change
International Policy on Climate Change
International Panel on Climate Change

I FUR S

(1) 1
(2) 2
(3) 3
(4) 4

STdar] 9Rad & e Uh S Toid! AU ST g AW Fa H A S A1 2
L. Wﬁ#ﬁwuﬂ%ﬂﬂ 3 FAlgHe 9o

2. ZeT@Hed Ud 3T TAgHe Il
3. SERRAS GTer! S FAEHT I
4. SCTRHT Ud 3 Faghe 9o
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]
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Which of the following different sized particulate matters are required for the determination of Air Quality
Index (AQI) in India?

A PMI1 (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

A and B only
B and C only
Aand C only
B. C and D only

bJ =

e L

1) 1
(2) 2
(3) 3
(4) 4

YR H a1y TUIaRT GaEH1 (AQI) P FuRRor & iy Fa & 3 i 3R a1 H-% 14 9 Hivreig gardf
P TR Bl § 2

A.PM1 (1 ISP AHR § HH 91 §RIaR & SS9 T
B. PM2.5 (2.5 HIS®H HHR U HH I1 §aR & B4 98
C. PM10 (10 TTSHH PR J B 1 SR P S99 gare)
D. TSPM (Td Uaifad H0mp 1 uare)

=i feu T fa el 7 9 Yol SUgad SR 1 90 DI

1. HPadA AR B
2. $dAB 3R C
3. FadAARC
4. FHaAB, C ARD

1 1

) 2

3) 3

4) 4

1[Option ID=19653]
2[Option ID=19654]
3[Option ID=19655]
4[Option ID=19656]
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Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire',
Statement II : Himalayan geothermal fields in India are also part of 'rim of fire'.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement I are incorrect.

. Statement I is correct but statement II is incorrect.
. Statement I is incorrect but Statement II 1s correct.

1)1
(2) 2
(3) 3
(4) 4

R AT Ry
@Y1 : fay & sifrear Yardha wa Re oife Bar & w9 § 31d uR-yia 98l § oafud § |
U 11 : R H [EHTerdl Jardiy & ot Re i BraR &1 | g |
IWRIad HYA & Mad 1, - U T [dwedi § 3 9ad 3ugad 3k &1 99 BIfld:
1. BYA 1 3R 11 ST 9t B
2. Y1 AR 11 S Tad B
3. DY 11 8, Wb PYUF 11 ed g
4. BYF 1T &, A" HUA 11951 &

1) 1
(2) 2
3) 3
(4) 4

b =

e L

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]
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In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat, Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

1. Shri Narendra Modi
2. Late Shri Atal Bihari Vajpayee
3. Manmohan Singh
4, Late Shri Chandra Shekhar
1) 1
(2) 2
(3) 3
(4) 4
fafir ot ofR Fsenfia wen & @l (o= | fayfaenea & o= +f wfte §) & &= sia-fsm agm
;ﬁ?ﬁ;ﬂq@mﬁméﬁﬁﬁm'wwﬂg YRT TIeHT B o3 HAfead A1 TUTE

1[Option ID=19661]
2[Option ID=19662]




3[Option ID=19663]
4[Option ID=19664]
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Given below are two statements:

Statement I : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations.

Statemnent I[: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II 1s false.
. Statement I 1is false but Statement II is true.
1) 1
(2) 2
(3) 3
(4) 4

Ta Py

B : 5 [R0&1 AfA, 2020 Bt SRS P STIR T 2040 95 T TR R0 TRi= (@@ 3.9013)
P! FglavaD HRIF & 1 el TG SN 3R JeeR BF HID I 06l TG 8Tl |

U 11 : g, [RI&1 A1, 2020, BT SN P IR, AGHIAD (&7 Higd IR 287 T Febel AHIGA
S{UTd 1 26.3% (2018) T TR T 2030 AP 50% HI- PI 6T I |

TG HUA P 3ATeiP 1, 19 U 70 faseat § T T8t S &1 997 DI
1. PYF 1 AR 11 ST T &
2. BYA 1 IR 11 SHT 3T

3. PUT 1T &, AT HUT 1 I =7

|

E 5]

4. DY 3T B, A HUT 11 IA B
1 1
@) 2
3) 3
(4) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]
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In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act ?

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

A, CandE only
.A.B.CandE only
A.C.DandE only
A, Cand D only
1)1

(2) 2

(3) 3

(4) 4

k=

]




T 1004 T, YR faylaame Sefiiom & e gRI, Hoi- $© deplal- [ayfaemedl
fraféaa ufkad= a1 9redn o -

A, fufaeeg & ol @ g3-faaraiada

B. fayfaeney die/ Sty & 3MeR & ueias]

c. Hi-e B 9919 & ST &1 wdd

D. fayfaemea de & sreR # 9fg

E. foufaaman @ iaw o Tecd &1 U4l $1 TR g7

- fAu e fawedl 7 9 36 Suged SR &1 98- ST

1.BIAA, C HRE
2. PTAA. B, C, 3IRE
3. PAAA, C, D 3RE
4. PAd A, C, 3IRD

(1 1

) 2

3) 3

(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR), was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement II : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Couneil
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II is incorrect.
4., Statement I is incorrect but Statement II is correct,

1) 1

(2) 2

3) 3

(4) 4

= @ Py Ry R

HYA 1 : HRA SRIFS =M URuE (3759 9.3R.) &1 ®IT9=1 89 2010 T [ayfaemad e S
(@i 3f.) §R1 U% WA 6 & U 5 & 715 o |

HU 11 : GaRISIE H I 1995 H WG el AP ATy e TRYE (A0 3R 5.), gd T 191
AT ST RS (U, 9, 311R. 3MTS.) B RITIH U Yolidd Wrad Herge] & U H I g of |

SR B & 3l o, 53U 7Y faedl ¥ 3 Yad SUgH SR &1 90 BIeg:
1. BYA [ R 11 S el &
2. HYA 1 3R 11 §HI TTed B
3. BYT 1 9al 8. Al HYF 11 Tad o
4. YT 17TAd ©, Afth HU 1 981 ¢

(1) 1
(2) 2
(3) 3
(4) 4

rd o=

1[Option ID=19673]
2[Option ID=19674]




3[Option ID=19675]
4[Option ID=19676]
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Given below are two statements:

Statement-I National Board of Accrediation (NBA) was established by UGC.

Statement II : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement I are incorrect.

3. Statement I 1s correct but statement I 1s incorrect.
4. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

19 2l Py RRu M &
HYF1 : PTG TATH IS (THALL) P RO YA GRS o |
BUF I : AP AT 3R YT UReE (TH.0.8.H!) P R T35 WA 3. (AICTE) gRIBI I ot |
SIRIK DU & 3iailep H, 1= iU ¢ faeedi § 9 ged 39gad 3R &1 997 DIWE:
1. PYA I AR IS T8l g
BYA 1 IR 11 g1 TTEd &
3. HYA 1T 8, Aich HYUF 11 7ed g
4. PYT LI 8, Aich1 P 11 Fg] 6

(1) 1
(2) 2
3) 3
(4) 4

b2 =

[

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g Y @1 9feu 3R vy &1 IR e

HIERI: G 39 FHR B § sy Fered § e aR 0 oHd 6 16 d 90 8 | 3aeRU & &4
. Af 59 9 & o RYd 9RqU TP S8R & (@I Nl & HRUN) B PRl 5, 78 sHd IR 34
I e IR YT SHH IR AT | 9ER Y AR 3 59 diidbadl & FRHES dodl & =9 J ST offdl
& | qUI aguTgd YUITeRd] T AFTaRiH B aTd JTH- S| ®1 6] §Hd § | 386U & =Y
T, B9 S0 © fob oidl-oid @y STadm &, T 37d © iR faqgw 81 9d & | fafie ®IF |R SR SR & 3@
D&l I 9 98 SHM T 9ahd g 19 Uall U ®IF ¥ G3R ®IF 1 SR SaNTEA $3d ¢ | 89 U6 IH-
3w faafad o= 9o © 1o Uall T & S8R YaeH &xd © | SF U&0ll I ar Fad &1 o
qep 1 HRTHATES b1 Bicll & | Jell SHRTEHID qep1 I SHUET RIS deb dlibed &0 1 31U
%% 8, 78 aul FRIR BIA1 © 91 SR TH S Hel 6l | 301 &1 903 & 10 g0 age

AT ao1 R iR ad € Fife saR T Uis 9 sifgert Faw § |

oft.a it a1 & 1Y B, Siaei® 56 SR a® d Kl § | @ oufad WY & sidery, JorieEddT,
e SR g 3t I WiBR &3 ¥ famd ed € | 9R waifte ngayul @l 3§ 4 5%
Grol 9% d91S Al ok axAN deRidl & SR 5] g5 SIUd 39 HRUI §s (& Aadbdl 30 fawi o
YIGQUl = A= 3 Tdbdl @1 SRR G @ U Sl 3% edii ai-d! &I SRTTd TR ¥ |

Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement II: Most important scientific discoveries are made only because of sound reasoning of the
investigators.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement I is false.
. Statement I 1s false but Statement II is true.
(1) 1
(2) 2
3) 3
(4) 4

R P RTmE:
TUA 1 : T8 a2 FITHATES TdoT1 $1 3aTevl & b g4 ¥ Fet R A9 98 W R |
DY 11 : Faloe Agaqul dx1i-e Giol siiaddls &1 Gy (B14) Tdb-1 & BRI Gl 6l Il g |
SIRITd P & ATalep 7, - fau T fawedt & 3 Het SR @1 99+ Bifo:
1. HY ARG T |
2. YA AR I G 3T B

3. YT 1 9 8, A HYUF 11 3T 8

[

e L

4. DY ITI B, AT YT I FI B
1) 1
) 2




3) 3
(4) 4

1[Option ID=19681]
2[Option ID=19682]
3[Option ID=19683]
4[Option ID=19684]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releazes from the tree. This logical reasoning from general to specific iz known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g Teriw 1 ufen iR Uy &1 3R difoly

STERI: AT B HH1G Bl & F1sps FepTerd § b SR H 3 ST & b d I © | 33T8R0 & =Y
H, 913 &1 9Hd § 1o o 95U U §8R @] (@I yUl & SRUN) SH1SNd Sl o, a9 590 3T9R g4
3 P W U THE R R | WA 3 GRE @1 59 aifdedl o e ao-1 & =9 3 o= ol
g | quIy ageT g JUTTerdl &1 ARTaRH ®R- arel FHT S| B 6] oFd § | 3aIeR0 & =Y
H, 59 39 ¢ fob oi9-oid o dfifqar 3, uell omd § iR faea s od § | fofi Ml R aR aR & sA®
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HU- P Th1 B 1Y B, SIdeP 38 SR d® d Sl § | 3 aafad Y H dey, gorEdd,
ﬁaﬁmaﬁimfﬁgﬂﬂaﬂwmnmﬁﬁmmmﬁﬁ% | GHR e Heaqul gis # 4 5o
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Given below are two statements:

Statement I : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning is always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement I and Statement II are true.
Both Statement I and Statement II are false.
Statement I is true but Statement II is false.
Statement I is false but Statement II is true.

g

ES V]

1)1
(2) 2
3) 3
(4) 4




19 2l Py Ry &
FUT1 : T8 A, &5 1efl T & SFER Ua9- $3d ¢, A dén1 3 S ¢ |
U 11 : FITHATES q1 gHRT Tel el © |
IRIF YA & i 4. 1 20 70 fdwedi § I Tl IR &1 904 I
1. BYA LRI T §
2. BYAL IR GH A G

3. BYT 1 9 &, Afe HY I 3 Td 2

4. DY 3T B, A YT 11 TA B
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19685]
2[Option ID=19686]

3[Option ID=19687]
4[Option ID=19688]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reagoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g Terier &Y ufeu SR Uy ©1 3R giforg
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Which among the following play a role in achieving suecess in research 7

A. Reasoning
B. Insight
C.Luck

Choose the most appropriate answer from the options given below:

.Aand B only
.B and C only
A and C only
A Band C
1)1

(2) 2

(3) 3

(4) 4

Ty & Sl uife & e 3 9 fa-foe ot ufier el 2

A THAT
B. 3{dei®

C. H'g
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4.A,B3RC

1

) 2

3) 3

(4) 4

1[Option ID=19689]

2[Option ID=19690]

3[Option ID=19691]
4[Option ID=19692]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g Y @1 9feu 3R vy &1 IR e
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Grol 9% d91S Al ok axAN deRidl & SR 5] g5 SIUd 39 HRUI §s (& Aadbdl 30 fawi o
YIGQUl = A= 3 Tdbdl @1 SRR G @ U Sl 3% edii ai-d! &I SRTTd TR ¥ |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reason-R: Inductive reasoning is more sound logically as compared to deductive reasoning.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A iz not correct but R is correct.
1)1
(2) 2
3) 3
(4) 4
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2[Option ID=19694]
3[Option ID=19695]
4[Option ID=19696]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releazes from the tree. This logical reasoning from general to specific iz known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A. Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

1. A only
2. B and C only
3. Aand B only
4 A BandC
1)1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
3) 3
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